I udten weld
\l National Testing Agency

Test Date : 22 Feb 2023 Test Slot : siot1

Subject : 28-Urdu

Sl. No.1
QBID:128001

Sls S8 ek sl usal el ) e S8 Sl 5 S Soad (Sl e Sl 2l
osh e sk S ol aslle Gl sl PS4l O e ol - il BUS el (Sl
LS gk o DB S Q3L sl 0l 55 G i S JegSn 650 Salse (e ol - s U S e
oS b eSS va paa ) Spabie jaateny jl gadlal re o OSSO e s
T0 S Ope 8 U O il e s S gl iy (B

1. (e O puun LY e
2 Gallue (o4l ga

4. Go5 AN Opes sl
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=9201]
2[Option ID=9202]
3[Option ID=9203]
4[Option ID=9204]

Sl. No.2
QBID:128002

?u_ﬂ‘-.’ ]JA {“U 3 J‘g—m é '\5‘:1'-'.)

1. A ) S g
7 PESS B PPRITRR
3. Gl sl ~aks
4, ede gl G s
1) 1
2) 2
(3) 3
4) 4

1[Option ID=9205]
2[Option ID=9206]
3[Option ID=9207]
4[Option ID=9208]

Sl. No.3
QBID:128003




3.

4.

1)1
) 2
3) 3
(4) 4
1[Option ID=9209]
2[Option ID=9210]

3[Option ID=9211]
4[Option ID=9212]

fon R e pS i g 0

Someonm miad) Sleaa Sk s Ug
o s iV Pl ey S S

Ol e

SRS

Sl. No.4
QBID:128004

3.

4.

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9213]
2[Option ID=9214]

3[Option ID=9215]
4[Option ID=9216]

ot oS it e s € S g anl 508 Cal oJai S0 o tane
1874 J: ) /19
1874 2</30
1874 05~ /30

1874 <u.X1/13

Sl. No.5
QBID:128005

4.

4,

1 1
) 2
(3) 3
(4) 4

1[Option ID=9217]
2[Option ID=9218]

&0

(T TP




3[Option ID=9219]
4[Option ID=9220]

Sl. No.6
QBID:128006

f L€ adi o pgeas LD TC 5 peld S anal plad M ok

1 54
2 o
3. Bt
4. e
1 1
@) 2
3) 3
4) 4

1[Option ID=9221]
2[Option ID=9222]
3[Option ID=9223]
4[Option ID=9224]

Sl. No.7
QBID:128007

B oS eole ebicly S IS Glath 38 amy  Jge 8 oSl o po Conna 2 17
11__\_)._}’[_“ h_-?‘] 51 &Ja
Qf1\5_‘1muuSJ]._1;n_J

L P ECORG PN

j—.‘.,)]"" L u—'ﬁg
% B s

4. ) el

(1)1
) 2
(3) 3
(4) 4
1[Option ID=9225]
2[Option ID=9226]

3[Option ID=9227]
4[Option ID=9228]

Sl. No.8
QBID:128008




3.

4.

1) 1
) 2
(3) 3
(4) 4
1[Option ID=9229]
2[Option ID=9230]

3[Option ID=9231]
4[Option ID=9232]

BIA =S85 e dems e S 555 plle
b il a0 ja 65550 B e e deaas

i ~i lai e gn g e Jlas 00

) 1ol g e 1) 2 Al an S

fon dsale —aapki GS Jladl o
s ea Y
Pk \_;L....

2R

Bk 9 (330

Sl. No.9
QBID:128009

X,

4.

1) 1
) 2
(3) 3
(4) 4
1[Option ID=9233]
2[Option ID=9234]

3[Option ID=9235]
4[Option ID=9236]

RS ) S NLLL o5
R e nadd ppad w ad g gle

Sl. No.10
QBID:128010




T e dee S ALE1S 550 by )l Aals

L. 1935
2 1936
2. 1938
4, 1939
1) 1
) 2
3) 3
4) a

1[Option ID=9237]
2[Option ID=9238]
3[Option ID=9239]
4[Option ID=9240]

Sl. No.11
QBID:128011

"on 58 S5 g

i Ol 5 8 S e iy iline 4l o) ilise
2. o 36 050 ilise 5o (S ladl (55
3. Ofls g anal w93 Jiay g Cada wilal  Calaaie Jladl S e 38 o)

4. Selbe o mdld gemn) ol sl ) ol S peliam S SS U e 2
Ut S bl e gl

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=9241]
2[Option ID=9242]

3[Option ID=9243]
4[Option ID=9244]

Sl. No.12
QBID:128012

Tt (P diaie Une el 0S5l S G IS 3 (K (6 o (S adme diuy (B

8K 1938 e

1.
2' A 1938z
) A A 1938 cuf
X 2 1942 e
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=9245]
2[Option ID=9246]
3[Option ID=9247]
4[Option ID=9248]

Sl. No.13
QBID:128013




8 St e S g sl e Ly S Osmal a5 Gl s (e 0]

1 s
2 &k
3. FES
4. Cala
1) 1
2) 2
(3) 3
“ 4

1[Option ID=9249]
2[Option ID=9250]
3[Option ID=9251]
4[Option ID=9252]

Sl. No.14
QBID:128014

?/_—.‘ o O CUS (S (g )l g hm OS5d e

il Al gaty

) OL)ale s ol

3. bl g )

4. JJ_J]' dl.l) C_‘JU PORY-PY

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=9253]
2[Option ID=9254]

3[Option ID=9255]
4[Option ID=9256]

Sl. No.15
QBID:128015

‘*fwjjubu-“djsf_—“d-mhbddh—mc“’?m;1"-1:‘9-")_91J‘._c._ll,.._l;._uédﬁ

l. A28 g a
24 ahie 5l albs
3. aaie 5l oAl
4. alle 5l alais

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=9257]
2[Option ID=9258]

3[Option ID=9259]
4[Option ID=9260]

Sl. No.16
QBID:128016




S olegS 2i8Qlle _wedidg

1. o S L e S el LS alSan S
O KT Jiews je ey

2. e ) 500 U S alle 50 Ule s
IS ) sade 0 5 Ul e g W1y S

3. JSdia lia ae jap A8 5 LS
B Ol 55w s mypn) o e g

4. S B jbg IS Cua

US dlas o Ui (353

(1)1
() 2
(3) 3
(4) 4
1[Option ID=9261]
2[Option ID=9262]

3[Option ID=9263]
4[Option ID=9264]

Sl. No.17
QBID:128017

Vo 08 et S 0501 el sl (s s Jlanisl e ) (oS 0 e ple S

I il 58
2. Gilrai 58 5la
3. Gliasd Hla
4. Slaasi 58
1) 1
) 2
3) 3
4) 4

1[Option ID=9265]
2[Option ID=9266]
3[Option ID=9267]
4[Option ID=9268]

Sl. No.18
QBID:128018




SusS s sons ok S
f o uapmd O8O g2l il

2 Dl el ) )

4. A ks
1 1
@) 2
3) 3
(4) 4

1[Option ID=9269]
2[Option ID=9270]
3[Option ID=9271]
4[Option ID=9272]

Sl. No.19
QBID:128019

Mol LS s S L Gl e LIS
L. 1810 A

Z. 1811 ~318

3. 1814 56

4. 1825 Ll

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=9273]
2[Option ID=9274]

3[Option ID=9275]
4[Option ID=9276]

SlI. No.20
QBID:128020

o e .1 5 . I % ’
S il (S lnmisaa Hg) 5y w8 S Gl Jd 2 -

A

L. i Rosls (e s pe e s s o s e Gl ol il

o sla Ute g gme (ha Uag fu oy e il ) Wil 2

o

2. 8

3. i n Regla e g pe gam gl Lo s (e Gl ) Wil i
4. = Sesla e s yue e il i e s e Gl () Wil 2
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=9277]
2[Option ID=9278]
3[Option ID=9279]
4[Option ID=9280]




Sl. No.21
QBID:128021

Lcayed L (Scyjpmdare Lidujad (S pnd (e ggoelie o lus 5 el Jla 1S 280 50 I
"-,__;‘JH;,LE.A.),}&%‘deijam;{”\;u“fj-d’éﬂdy&m
¢ — 1Salas JS. JL\; ~

2. Ll s
4. BIVENPINGEY
) 1
) 2
(3) 3
(4) 4

1[Option ID=9281]
2[Option ID=9282]
3[Option ID=9283]
4[Option ID=9284]

Sl. No.22
QBID:128022

amy S edie ) Sl pe S Jyalbl e o 0seme S8 _wglge ST0L) S Y
¢ oW S dald

1. & 53 aludlae
2 e Ul ae
3. Sos o Ul e
1) 1
2) 2
3) 3
4) 4

1[Option ID=9285]
2[Option ID=9286]
3[Option ID=9287]
4[Option ID=9288]

Sl. No.23
QBID:128023

? 2 eSS L gasne SO S ) € WS 5 (B ela € i Da

—

. (€ -

2. Sallae o4l ge

3. L_J'.I'i‘ T ._‘I;L.\.tJ
- - - -

4. Cpa dda LS

™ 1

() 2

3) 3

(4) 4




1[Option ID=9289]
2[Option ID=9290]
3[Option ID=9291]
4[Option ID=9292]

Sl. No.24
QBID:128024

¥ 08 s e ™ I8 el e 53

; o g2 S 1S ol
. Gy I,
> B EREPRT
4. k;'ngJ‘ 1\5 U—IS JL]\
1 1
(2) 2
(3) 3
(4) 4

1[Option ID=9293]
2[Option ID=9294]
3[Option ID=9295]
4[Option ID=9296]

Sl. No.25
QBID:128025

Ui LS S oS i 53 ) S "l 50 i med " 8 s ) e

L. s e Ju

> st g G Uae
3' d]._-:s ‘;.YLG sl
i g »._‘J’\_u u.‘lc L
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9297]
2[Option ID=9298]
3[Option ID=9299]
4[Option ID=9300]

Sl. No.26
QBID:128026

S e el )38 Jh SIS (g5 Suu
: SH S s
2 S obe S
- L
4. .
(1)1
(2) 2

3) 3
(4) 4

1[Option ID=9301]




2[Option ID=9302]
3[Option ID=9303]
4[Option ID=9304]

Sl. No.27
QBID:128027

3.

4.

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9305]
2[Option ID=9306]

3[Option ID=9307]
4[Option ID=9308]

a ygl pudg gy S _sal Sl g

P

=

i

Sl. No.28
QBID:128028

3.

4.

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9309]
2[Option ID=9310]

3[Option ID=9311]
4[Option ID=9312]

Gl 2 VAl v B0 S S e

€ iy alia) 1S J5l5 Sy e Gl
ol (ala
AR O A

=il g

Sl. No.29
QBID:128029

1)1
(2) 2
(3) 3
(4) 4

T2 Galas (S oS " Bl )l s il
ISy jaby ju

= 2 -
L;JS el L_iL;c.

gl (z:L):nC J:LH..




1[Option ID=9313]
2[Option ID=9314]
3[Option ID=9315]
4[Option ID=9316]

Sl. No.30
QBID:128030

Q@ ~ﬁﬂ\-&—.l ”_‘)-.dl_!_ﬂ” Ajlll—h:_) ; jﬂ:\j L_S:._Ij /___A..: f\_lj_i. .’j .“59;._4:\“ L)..S

3. g glue 8
o FRIS-
11
(2) 2
(3) 3
(4) 4

1[Option ID=9317]
2[Option ID=9318]
3[Option ID=9319]
4[Option ID=9320]

Sl. No.31
QBID:128031

"o e g S (Suai e Sl ol S ol ) (S ppd SY S g el

l. B {,LJ R\KW
3. ez o
1)1
2) 2
(3) 3
(4) 4

1[Option ID=9321]
2[Option ID=9322]
3[Option ID=9323]
4[Option ID=9324]

Sl. No.32
QBID:128032

Cu) e b 63 S Usige Lai
“—'JL“ J‘“s:‘*ﬁ”éﬁ"s

1 . -

1 gl

2. (B9 e (utiad

Aliiie (S ya (pniad




(1) 1
(2) 2
3) 3
4) 4
1[Option ID=9325]
2[Option ID=9326]

3[Option ID=9327]
4[Option ID=9328]

Sl. No.33
QBID:128033

3.

4, &
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=9329]

2[Option ID=9330]

3[Option ID=9331]
4[Option ID=9332]

Sl. No.34
QBID:128034

C oS Ui 2 S g plai 1S ) e el & St

l. KA a lal
2. ik sigl
3. O#a g al
4. el 15
1) 1
() 2
(3) 3
(4) 4

1[Option ID=9333]
2[Option ID=9334]
3[Option ID=9335]
4[Option ID=9336]

Sl. No.35
QBID:128035

I Glo (e B

2, _Jlla'. 415" @.A.u. Lass
3. BENSTN RIEPPENPES
4, & sord UA Das )l s

@) 1




(2) 2
3) 3
(4) 4
1[Option ID=9337]
2[Option ID=9338]

3[Option ID=9339]
4[Option ID=9340]

Sl. No.36
QBID:128036

3.

4.

1)1
) 2
3) 3
(4) 4
1[Option ID=9341]
2[Option ID=9342]

3[Option ID=9343]
4[Option ID=9344]

B il oY g B s
S el ule

FAbens o515

e glor gl

Y o ol siula

Sl. No.37
QBID:128037

3.

4.

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9345]
2[Option ID=9346]

3[Option ID=9347]
4[Option ID=9348]

UElS ald 58 ab ol Al
JY ea

Sle s Al

Sl e

S g g

Sl. No.38
QBID:128038

) 1
) 2

? \_J_I:i J;Lnué U_IJS. '__‘j '._‘.1_)1\..1...:1




3) 3
(4) 4

1[Option ID=9349]
2[Option ID=9350]
3[Option ID=9351]
4[Option ID=9352]

Sl. No.39
QBID:128039

Lot g adld s LS ) (S 83 S 1S 1 s ) D

1. 1845/0 5
2. 1850/ 558
3. 1848/> K1
4. 1847/ ks
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=9353]
2[Option ID=9354]
3[Option ID=9355]
4[Option ID=9356]

Sl. No.40
QBID:128040

g gliulae g ) A A g i
SPulf, sagsa, i dleela S el g
,_9-.'-‘-‘:.;_,"1‘7,‘:‘1‘5 Uu‘ djell._l‘)s -J‘J'L’ Y

B8 s o b 058 o Sl g LTS S8 el 5 L s

1L g S
2. B TRSABNTS
3. Qg e |t
4. g Wi
1) 1
) 2
3) 3
(4) 4

1[Option ID=9357]
2[Option ID=9358]
3[Option ID=9359]
4[Option ID=9360]

Sl. No.41
QBID:128041




bl g0 gl pp a4 je) 93 unedd

_ﬂ‘!j.ﬁj‘d;_&a O (s 2 griie ¢ ;_1-"‘-‘:1-.';).-.‘3}1 el ¢ U_”.):L:.'_‘}AM—A
B0l ka8 (Ula (e 3 g ¢ el pall juaic il jpliagena - B
S dila e KU aia (o8 ¢ el Gaall jpai ¢ (o gens C-
) ad A Gaes 3 gmase ¢ oadily uall uai ¢ ) jadi 3 gesa D-

S (Al (S s e s

1[Option ID=9361]
2[Option ID=9362]
3[Option ID=9363]
4[Option ID=9364]

Sl. No.42
QBID:128042

ok . 5 - Y. B L

S U (S Os ) g o dii g s e Bl S el ) salas
._LL.I le_x- MLI 1_-)1._‘:\i.l_ _Mlli_.! JA._‘J s A

o ok LS 5 - ~iill 2 2 - B

JL.:.'JG;‘_QJLGS_JT‘_ cﬁé‘gm_c

<A 15 B D) CuSod l_gql_j..:_ﬁ a;—(' J§_1;_ S -D

1.B_UsA
2.C LsB
3.DUsB

4.D ,5A
(1) 1

2) 2

3) 3

(@) 4

1[Option ID=9365]
2[Option ID=9366]

3[Option ID=9367]
4[Option ID=9368]

Sl. No.43
QBID:128043




S 0l (S s pe) a0 S ngedingp wblal _SaNSae geas Sl gl el

1.B S A
2.C 3B
3.CLs A

4.D ;5B
11

(2) 2

3) 3

4) 4
1[Option ID=9369]
2[Option ID=9370]

3[Option ID=9371]
4[Option ID=9372]

s sl 2 M abel aul - A
s:u.ua_);._ SLJJJJ.L.._CJJ_L\LA_I B

'._J.n_m .JL_LA..: ..J}.I.\S nald 3.;.@ C

(= J‘J)L,_! L_dﬁk_“;—k_Il_lll\S?‘a)- Mu_'\_)S_D

Sl. No.44
QBID:128044

Ll oy ppmemea Sl S spe) 0 e e diip

L 58 gae 3 pada) 5 IS s Ute Ust Rt S Bariae y Gale Dm g A

Lo Sgme Jan s Oaa S S 380 e us pemi S 3sdiee 5Gale DB
\_-,-EJHJ,/_AL;J—AU-FJ&JLAJ@—&‘ uM,_—’lieAéﬁw‘* m:'ﬁié)mqﬂ

1.BUsA
2.C LA
3.C LB

4.D 33 A

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=9373]
2[Option ID=9374]

3[Option ID=9375]
4[Option ID=9376]

/—lﬁ UA.JJLMJ &S Us)e) i

Sl. No.45
QBID:128045




- Ll g g onmeea Jdl S yie) p woedidz e
WU%AJIS/_JEJJJENJAL%U_'L:SJJJ JWH&H}R‘%@MU_S.G]}AJ.—A
\de\ﬁ:.,_jémc‘_méhn)ﬁﬁ QPWJ&%}&MM\:SOI}JL'-B
@ abklcne Gl s KL ey e Jle) Jisaal s 358 - C
s o 0SS o D re 0ol st e Sl dise w5500 -D
S ol (S s ) e

1[Option ID=9377]
2[Option ID=9378]
3[Option ID=9379]
4[Option ID=9380]

Sl. No.46
QBID:128046

Jﬁ;ﬂﬁllu_hmi Jﬂjl;élll_‘l‘_\ieu jH}ﬁijle..\.‘ . 3JJUJ1 _A

éj)ﬁ.“i ).L.‘AJ'LLL‘- ‘ J.Ln\_lﬁk.r_iémjnj.in.luuﬁ . \__]L‘ljk_ﬂJELum-B

Llﬂjl;. ‘L1'T.‘:‘ i\__‘_“‘)_:_u s\_._‘_u.“ é_);u..: &delﬁ.“ C

e (Blad S adagha (e sla s sla Glla ¢l () j3lie ¢ LS jems 5oy ael Jiu - D
'/—‘Aé u—.'djm uj U340 e

1.A Js'B
2.CusD
3.C_sB

4. Dos A

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=9381]
2[Option ID=9382]

3[Option ID=9383]
4[Option ID=9384]

Sl. No.47
QBID:128047




1.C LA
2.Dus A
3.CJsB

4. C_s D
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9385]
2[Option ID=9386]

3[Option ID=9387]
4[Option ID=9388]

-hle o 5 ongma s je) 0 Uedd

ds_‘és& o)l g SAlde. A
Ji&'&a J£J1j1_u_§\_l; - B
d{i\_‘)&.\_;__)__lj'lj\ =10

Sgeoiwls JS-D

Sl. No.48
QBID:128048

1[Option ID=9389]
2[Option ID=9390]
3[Option ID=9391]
4[Option ID=9392]

-ble g gl pnmsaa o je) s e dd

K Ao A e 1l o o Scuse 6 Seaan IS S5 JS- A
Isujll“'udﬂ—fu—.'ﬂlldr}“f“—hfalljf‘/_—f 11'51'735‘;)3";)3:““33;‘15@—.;”)1'5;)1—7"]3

S Plades o U s ol S G Sadll s gaS 3S.C

K Slalia ) Jaa S afina o S G35 Sl wlaeaf € . D

> S 0l (S e ) s

Sl. No.49
QBID:128049




1.D S B
2.D i A
3.C_sD
4.CL3B
()1
(2) 2
(3) 3
) a

1[Option ID=9393]
2[Option ID=9394]
3[Option ID=9395]
4[Option ID=9396]

coR e bl 2 o maa 5 Susle e di
B R S
sz piGhn e dn s S-B
58S Sne3s-C

Sl b cea i J0 638 - D

S il (S s e ) e

Sl. No.50
QBID:128050

1.B U5l A
2.D 33 C
2.1 29 A
4.C_s B

1

2) 2

(3) 3

4) 4

1[Option ID=9397]
2[Option ID=9398]
3[Option ID=9399]
4[Option ID=9400]

-
S

__L.liJJJJ'l-mqupjj..d.mLL..
ot ¢ (oal ¢ s e (S i D - A
UJJ@)LA;ELMUQ\‘_;%‘J@_B
Suin ol s Se (GLLG -C
il O e B b oafie S pmiBle «(J e - D
S (2l (S s ) e

rd

Sl. No.51
QBID:128051




K i) soendla ooxn 1 Jse
S A Sy 2l Y s

QU 5 oileS A S8 (A

L SLr s 8 358 ol sl

- LIt 53 )5l On e ad g0 e di
Sl e 08 s OaiS Ll SR A
S Shmd SsS eaen i S5 -B
e RS qusk u-C
il ot sl Sde 5 w8 €235 D

_019:35 k_?l_‘._'ﬂn_...q Uj J'L:_;:.-'l e

1[Option ID=9401]
2[Option ID=9402]
3[Option ID=9403]
4[Option ID=9404]

Sl. No.52
QBID:128052

- Ll p o or e s ) e di
1¢jf%¢ﬁ)ﬂig$djujdﬂﬁum-]3
@A&Llﬂd‘)ﬁdj:}bﬁ_)m.*xa_gjl;;l;}..u_j_ﬁf_;-\_]_‘._c
JLLASS 1.‘_11‘9_;..15 LJL‘JJ»._“_‘HS\_::ed_‘J_}t_.:'E L_’SJ?\_I_\ ‘ ‘_'11.;;. < k_J._‘n.‘I-D
S (ol (S s e ) ma—a

1.CL A
2.D_sB
3.CLsB

4. D, A

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9405]
2[Option ID=9406]

3[Option ID=9407]
4[Option ID=9408]

Sl. No.53
QBID:128053




) - Lo o el gnmsia s je) s 0edid
o Aa ot c Aaj sl ol calllen 2 B el ) pasd e - A

[
=

delﬁhi.(.\A.:_lllJ,:_uGjJJ‘i@JIJJ&J_‘GJJJJ}H‘iMJ‘y_B
A e peld po ) casti Lee o B8 Aan o A8 glaula i el b 520l - D
S il (S s e ) e

1[Option ID=9409]
2[Option ID=9410]
3[Option ID=9411]
4[Option ID=9412]

Sl. No.54
QBID:128054

-l g sl Un e 2 pe Sl S U

o S L ) B0 S ) S S (g pae (sham s GRas deal - A
SN P PIUIPLEPEE DUV ERW UL PR SVS LS PV I 15 PO SO
s S s g deal Bl il st 2 e ' - C

o deals Cual pm gt ST g ) e ol (SLgSa - D

'C‘A“‘j u_m_i'l_ﬁ_l k_é Gl Ca—

1.C L5 A
2.D i A
3.BUs A

4.D_s'C

(1)1
) 2
(3) 3
(4) 4
1[Option ID=9413]
2[Option ID=9414]

3[Option ID=9415]
4[Option ID=9416]

Sl. No.55
QBID:128055




1[Option ID=9417]
2[Option ID=9418]
3[Option ID=9419]
4[Option ID=9420]

-hle o gl onmse £ e 5 Uedd

& e cakad ¢ I8 55 Sanic K S nd g - A
.@Jgtmutjjnaekci?“\schLuﬁ_B
JMCUSMTIJlex_ﬁL..J‘JaJJB\_'m o,

ko AT eSlaia e Jl Gl 52 clgas 331 - D

S (ol (S s e e

Sl. No.56
QBID:128056

1.C y8l A
2.1 a9 A
3.B s C

4.DLs C
1 1

(2) 2

(3) 3

(4) 4

1[Option ID=9421]
2[Option ID=9422]

3[Option ID=9423]
4[Option ID=9424]

Ll o el pmmaa, ) g pmedid

JS dd Fle 5o 0=t S padi Sles A
QLS Jlea o jUai (353 Uy sd i QL - B

U dad Jle o JiS demyos o5l 3l es-C
DS Js sole 555 5 aliog DS diasos o5l 3lEes-D
S (ol (S g ) g

Sl. No.57
QBID:128057




_LILGJJJJH\_)_UP'_IML-}AJj é‘)l_w_.ﬂd_i.odg_.
JJ:J/\JLJ—\.&CIJJAJ‘_?F _\.4‘3_1‘9.1 ﬁo}cdbq.ojc_)u1‘ojgmygmﬁq .8

us_.yo‘sln_c_éa;.} /__g_lcl..ujg_‘;sqaa_gfa_ Haj‘uuua};dufa‘,_g%;g% B
U5l S sy s LS5 oS Aaa 8l Slos- C
US 50 Dol m 05 s Ssen e LS 5o S e S Jlpa S1e5-D
S il (S s e ) e
1.BUSA
2.C LB
2.1 09 C
4. D,s A
1) 1
2) 2
3) 3
@ 4

1[Option ID=9425]
2[Option ID=9426]
3[Option ID=9427]
4[Option ID=9428]

Sl. No.58
QBID:128058

-hle g g onmemea s ja) 0 0 Sl Db g e Jlie) S eld

Jale plS méﬁﬁéf_‘ﬂsu“dseJ S S S B S e 5 A
e e U RT3 85 85 oW e e Sl opedh s S0 B
PRI SR IR pre T S Rdje A SUS g idam L .C
‘_g‘)ﬁJ; I\S\_IL}LL'I hggblkﬂgéﬁd%ﬂcﬁ_}éem ﬁJ\j)lssiUhmuﬁj_\é\yD

'C';-‘S u_s_.‘-‘u]";:_l‘ I.:_<' e e =

1[Option ID=9429]
2[Option ID=9430]
3[Option ID=9431]
4[Option ID=9432]

Sl. No.59
QBID:128059




Lle g sl b s s je) 5 e
e

._)...4.. ﬁdjdaﬁ“j‘]djsduhjmc')f

A Dl (i
S s U S il e s

P = biel Sy el
U od 0ad Jll) - A

cesle JLA B

BEN L& Jaal U el s s Uil WSS S ensSE8bSU-C
T Lo 0t o e e daillileal i (S SsSel e S 281D

_C|;_\S U_I.J_IL.\I_‘ USL)AJ a—

1[Option ID=9433]
2[Option ID=9434]
3[Option ID=9435]
4[Option ID=9436]

Sl. No.60
QBID:128060

-Swmfls s )_1";5\41‘_; _Ll 'IJS'/\S.L-\IS' mL...:l\__‘J_....j_u. A
/_Ik_lleJwé\_)J;mLJuS M 1..;..:] Sj)“ B

e 3 1S QS 6 5 B (S o S LS s " oaly gl (el - C
-L)-”-_J]'—"‘\_)m-"}‘-“‘-““—“wéljﬁjllJ]'JJC—‘JJM-“Q-"I-D

S ailds S Al s
1.BUsA
2.C ,5'B
3.1 s C
4.D.,s B
(1)1
(2) 2
(3) 3
) a

1[Option ID=9437]
2[Option ID=9438]
3[Option ID=9439]
4[Option ID=9440]

Sl. No.61
QBID:128061




1.BUsA
2.C 4B
3.1 a9 €

4. D,s A

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9441]
2[Option ID=9442]

3[Option ID=9443]
4[Option ID=9444]

Qe Say e R ¢ G (Slad ccailae Alid ¢ ) e - A
JI:IA. dt}.u_,_l su_lala..c Al ¢ JL‘.’"’ 3 EL} s\_)u‘) [TV [ B
1.3_}?'-1'56&;];.5% ‘92 LJCG—?'-:"-SS:' d'ls S i - C

u_AJ1 LQJ\;‘ W Slaa ¢ J])LI aJS1 ‘ u_‘ls. JJ.J b

S ol S g e ) masea

Sl. No.62
QBID:128062

1.BUsA
2.C 4B
3.1 a9 €

4. D,us A

1) 1
) 2
(3) 3
(4) 4
1[Option ID=9445]
2[Option ID=9446]

3[Option ID=9447]
4[Option ID=9448]

ophle 50 )5l maa s je) g3 e did

Jud A dens jaa ¢ 5 S e an 40l e ¢ ;B A
J_jlg_{l\“_ﬁl.d i.u_xl...asu_‘.:J..aacJ.i}.u\_u.l;sLL't BE R4 g
ymt}ﬁ#;c‘u\}cijuM‘iéwllSM‘ 1'|_&._1_D
S ol (S s ) e

Sl. No.63
QBID:128063




1.BUsA
2.C 4B
3.1 a9 €

4. Cos A
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9449]
2[Option ID=9450]

3[Option ID=9451]
4[Option ID=9452]

onble 9 5l maaa £y s o d

8 S e g e 0l a g M B ) - A
o83 B e e p S KK o 5EL-B
Ll 3 ) edie K2l e Sl ) e A7 - C

3 B s LS (S SES ) Gilee LD
S (2l (S s e ) e

Sl. No.64
QBID:128064

1.BUsSA
2.CL3 A
3.C 5B

4.D,s C
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=9453]
2[Option ID=9454]

3[Option ID=9455]
4[Option ID=9456]

. e - * '[. B 1~‘

S L (S s e e 5 e e g e Bl ST b ) ek
;)..Ylajk'_\a.i J—‘eé]-u%ﬁﬁﬁws._ﬁhb-A

2al JLI ‘ k_gJ]IJTI T ¢ u_;ILq:_ﬁ -B

1})&1I£Jm—h§ﬁ1a—k_lmm]\£\j)ls—(‘

Sl K- 5+ -D

Sl. No.65
QBID:128065




Ll o el pnmsia s ey s e d
sl Sl s A
QJGGLL_)JASF‘S‘;%—B

BTSNV PEN PEQITIVIN Al e (CuaSa a5 0e-D

1.CL5 A
2.2 33 B
3.1 .09 C
4. Bus A
@ 1
2) 2
3) 3
(4) 4

1[Option ID=9457]
2[Option ID=9458]
3[Option ID=9459]
4[Option ID=9460]

Sl. No.66
QBID:128066

S il S T mmea wblal S50 jme ) eld

W olils _gaall Hli | T s e Sa | Al

PSS Sl g plm | T 3L 2al| B

WS e g Sl e B lea migaaoy | I s A8y O
S sl USSR L5 IV] woseSuS 314D

1. A-I, B-1I, C-III, D-1IV
2. A-1V, B-1I, C-III, D-I
3. A-IL, B-1II. C-1, D-IV
4. A-1I1, B-1, C-IV, D-II
@
@

(3)
(4)

A W N =

1[Option ID=9461]
2[Option ID=9462]
3[Option ID=9463]
4[Option ID=9464]

Sl. No.67
QBID:128067




'G'*Sﬁﬁ“:‘jujjﬁ@“c“kué‘*‘uséj s (anae

e S dena| I 2g0sl ae 8| A

Giae Sy lle | 1 o= 2 | B
oaliala (5 0 (S g2, 1| TT Sl 2 gena|.C
paall 2l 285| TV s dea [.D

1. A-II, B-III, C-1V, D-1
2. A-1V, B-11I, C-II, D-I
3. A-I, B-1I, C-III, D-IV
4. A-111, B-1, C-II, D-IV

1)1
) 2
(3) 3
(4) 4
1[Option ID=9465]
2[Option ID=9466]

3[Option ID=9467]
4[Option ID=9468]

Sl. No.68
QBID:128068

g A S S SES G A
A0da| I Je st B

Ol 23 LS T d sl .C
el jaal TV Cilae Ald D

1. A-IV, B-1I, C-1, D-III
2. A-IIT, B-1, C-IV, D-II
3. A-I, B-II, C-III, D-IV
4. A-II, B-1II, C-1IV, D-I

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=9469]
2[Option ID=9470]

3[Option ID=9471]
4[Option ID=9472]

Sl. No.69
QBID:128069




€ il S e whlal € Ky (S o) el

Seaia Xl I con bl s e A
S (2 s A AT 2ua Jss | B
Cpaa LT i (grec [C

-jjh \_A_Ill_"_)l AA.TIA IV u.i'l; uﬂ.}m:. at Ll n;:;'l_gi D

1. A-II, B-1V, C-III, D-I
2. A-1V, B-II, C-1, D-III
3. A-I, B-III, C-IL, D-IV
4. A-II1, B-1, C-1V, D-II

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=9473]
2[Option ID=9474]
3[Option ID=9475]
4[Option ID=9476]

Sl. No.70
QBID:128070

S S S S mmea S Ggane/ QS ksl Scue o

Sl il g | T Lte A AUl Ll [ A
il I § | e sl B

~SKA | TIT Guudll| .C

s Sds A | IV s\ g S S| D

1. A-1IV, B-1I. C-1, D-III
2. A-III, B-1V, C-II, D-I
3. A-1V, B-1II, C-I, D-II
4. A-1V, B-1II, C-II, D-I

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=9477]
2[Option ID=9478]

3[Option ID=9479]
4[Option ID=9480]

Sl. No.71
QBID:128071




.__A_IS;‘“ “;:mhuéj_’ac#...a:m _Jﬁﬂ‘éﬂm.ﬁ)jiﬁm

W agbe glwn| ] (ege
sstelolen] I mul
G | I el
FSd ghen| IV

wl el l-=1k=

1. A-III, B-II, C-1, D-IV
2. A-11, B-1I1, C-1V, D-1
3, AMLB-IV; C1, B
4. A-11, B-111, C-IV, D-1
1 1
(2) 2
3) 3
(4) 4

1[Option ID=9481]
2[Option ID=9482]
3[Option ID=9483]
4[Option ID=9484]

Sl. No.72
QBID:128072

S ol (S Ol g minea w Jlle) S paldd Gl WU S el

ala| I Sle gl 7| LA
k| I sl ani| B
soi | I Sl .C
) OA| IV ) Lsds| D

1. A-IV, B-III, C-IL, D-I
2. A-1I1, B-II., C-1IV, D-1
3. A-IL, B-1I, C-III, D-IV
4. A-1V, B-11I, C-1, D-II

1)1
(2) 2
3) 3
(4) 4
1[Option ID=9485]
2[Option ID=9486]

3[Option ID=9487]
4[Option ID=9488]

Sl. No.73
QBID:128073




S (il S Gea maia e S gy S S S il sl s 5t

RO T asd I S| A
bl dgaua| I e i B
sagass| M o 0sal .C
5 Fie| IV Ol | D

1. A-I, B-II, C-IIL, D-IV
2. A-III, B-1V, C-1, D-II
3. A-1IV, B-II, C-1, D-III
4. A-Il, B-1, C-II1, D-1V
(1) 1
2) 2
(3) 3

(4) 4

1[Option ID=9489]
2[Option ID=9490]
3[Option ID=9491]
4[Option ID=9492]

Sl. No.74
QBID:128074

'ﬁsuﬁmmégﬁﬁﬁl@:ﬂ)uﬁﬁééwjj\ J::IL.I

ol cawg| T (st [ Al
~G [N .—=£|B

S 1T J}m}i.c

e 5 02 2 [TV =i |D

1. A-II, B-I, C-IV, D-III
2. A-1IV, B-1IL, C-I, D-II
3. A-1V, B-1, C-II, D-III
4. A-111, B-II, C-I, D-IV

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9493]
2[Option ID=9494]

3[Option ID=9495]
4[Option ID=9496]

Sl. No.75
QBID:128075




S ol S maa S Ble Sl s

osla| I i d [ Al
M Fal I Wegzs| B
ok w0 | .C
seie [ IV >s8[ D

1. A-IIL, B-II, C-1, D-IV
2. A-IIL B-1IV, C-1, D-II
3. A-1IV, B-1II, C-II, D-I
4. A-I1, B-1II, C-1IV, D-1

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9497]
2[Option ID=9498]

3[Option ID=9499]
4[Option ID=9500]

Sl. No.76
QBID:128076

S il (S P mma (S 8dala el Sl
ujl;.;u@:\é ‘ JLEﬂ 3 \_;J.:_...: M.Ea]ddga.ﬁ <l

(o aakald 388 (el s - B

A paniils b aabld 3l (Jlsl - C

s jad Aokl 58k (Jldli s - D

1.1}
2.A
L

4.B

1)1
(2) 2
3) 3
(4) 4
1[Option ID=9501]
2[Option ID=9502]

3[Option ID=9503]
4[Option ID=9504]

Sl. No.77
QBID:128077




S ol S e e ) i
bl ‘..ﬁ:aﬁ_'\'ly (Sl AaST- A

jUUM o)l y8d (8 35clal (s s) 5e) - B

JRTets; g.);‘l“‘-" .H:bhb)u...s‘/_ij 2 -C

JJ_!“ _\_._ud_‘._)u_...: a&1 s J D

1. A
2.B
3.3

4.C
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9505]
2[Option ID=9506]

3[Option ID=9507]
4[Option ID=9508]

Sl. No.78
QBID:128078

S ol (S S mse el Gl
S05S0 R Bl A O e lE ] jac pe B e - A
ea Ol e (558 R Bl e 8 e Allel e - B
e e o5 )5S )R 31 Qe ) et e e - C
Cle ) e ¢ e 8 e o Baaa e (oS8 31 E-D

1.B
2.6
3.A

4.D
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9509]
2[Option ID=9510]

3[Option ID=9511]
4[Option ID=9512]

Sl. No.79
QBID:128079




- S uﬁﬁu“' Sl ) s s ke Sl )
C.I._I\_,_‘_tcjn_l_\..ﬂ GJMMMEJJ};&QJQ\._I;)SU_L_:SJQJ*&E_A
JMMMSJLAEU_‘E LL@ELJ}JMJJ”JJQUAJGCuUJDJgLA‘-C

B —
> T O

(1) 1
2) 2
(3) 3
4) 4
1[Option ID=9513]
2[Option ID=9514]

3[Option ID=9515]
4[Option ID=9516]

Sl. No.80
QBID:128080

S (il (S G i s lie] S aliy L

B aia 8 ¢ Ula s agmia ¢ ) 63 ) e e i 2in K- A
S0 a8 ¢ U Opes 3 gmsa ¢ O din G855 58 ) ae - B
Bl ain R ¢ pa via OL&e A s 3gmise ¢ 953 M8 Gl 2a - C

O i OLR o8l ks K655 M8 ) (ae ¢ A Gpm 3 g2ia - D

o e Tt
Oawr

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=9517]
2[Option ID=9518]

3[Option ID=9519]
4[Option ID=9520]

Sl. No.81
QBID:128081

S il (Sl imaa (S glaa ) LSq el ol e Jlie) S el Al
Comna s le cSg et g (S Ao i Glagp e 3l - A

G50 Sl Al Cnanaa any le (S el ey ) 68 el vy (A 5 - B

Cuan 2a Lo (350 bl s oS pad vy (8 5 eSo ai e ) - C

G330 Ll Alla s day Le 65 pal ain (A J e Sl Jleg ;- D




1[Option ID=9521]
2[Option ID=9522]
3[Option ID=9523]
4[Option ID=9524]

Sl. No.82
QBID:128082

am el 8 5 s S J—"nb‘;mwuﬁw‘ Hiy i = A
_gam.g_g\_u...-_)mﬁ aJ_la.duJ\c)stuuu_Lmr.cjmumuiua B
s Ol 88 ¢ Al Cieae e G Calas csan S jaial - C
o Gl 38 lian Crame gan B il ¢ gite Gus Claw - D

1[Option ID=9525]
2[Option ID=9526]
3[Option ID=9527]
4[Option ID=9528]

Sl. No.83
QBID:128083

s B B R B e, AT 0
@lal e Sa ¢ ol alae Sl ¢ aga ¢ Lyl - A
@y S ¢ b ydic ol aalse oS¢ (e ge - B

Jll_l”);_u ai_.;_‘.l_‘li_\‘l_}a )gx; ¢ g2l ‘a_lja.c A ¢ (jage-C

o 9o eI ja S ¢Sl el aplse L3 - D

1. A
2.6
3.

4.B
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9529]
2[Option ID=9530]

3[Option ID=9531]
4[Option ID=9532]

Sl. No.84
QBID:128084




el i dsiams - A
sH s Hs-B

s e s - C

et dsiems s -D

L
213
3.A

4.B

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9533]
2[Option ID=9534]

3[Option ID=9535]
4[Option ID=9536]

Sl. No.85
QBID:128085

S ol (S i a5 85 g gl i g pa e e e
Jm_ﬂi&dﬁigdaugejﬁhaéJ%u_a&i_A

R R S D e =

o i s Do cantt SAE L (e e - C

uﬁjhiﬁ)%.gat_gj (s e sfa“;..._l_)S_Lu'LJ_‘_D

l..13
2.6
3.B

4. A
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9537]
2[Option ID=9538]

3[Option ID=9539]
4[Option ID=9540]

Sl. No.86
QBID:128086




Sosir S e dib g s s g WIS Gea e S e pp 8 bl 50 e did
Bt o L el el gl R i e N e S S P

(=0 el psie Bile & 0 JHA g il e pell j5pka 8 Jlps S SN g e
88 S On ) @l Wil cr d‘l e Jala

1. - pndle Ggigndds 4l dsea
3. - msa g didy ) s sen

=
4okl Qs B yma (550
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=9541]
2[Option ID=9542]

3[Option ID=9543]
4[Option ID=9544]

Sl. No.87
QBID:128087

ﬁsuﬁjﬁ-géﬁddﬂ—‘u&w_ﬁﬁw‘L—Jl.!ilei;_;jﬂ—"&ﬂiﬂﬂuﬁc‘lsdﬁﬁub{aﬁu&ndeﬁ
S 2l (S Dl maea el Jn s i S G w8
-,_—g-—ﬁ;‘%d@_jﬁjd‘ei:}d}p\_ddﬁ:gﬁd

l-'u‘.f—i'C‘TJMJJ:’j-‘ijJJjHCS}D“
2.-up bl s dds sl o gea

4. ‘C.:\MJ:\L‘.JL,__:.LEU;JQ_‘

1)
(2)
(3)
(4)

-hwnn-h"

1[Option ID=9545]
2[Option ID=9546]
3[Option ID=9547]
4[Option ID=9548]

Sl. No.88
QBID:128088




S0 =S eadih e jus oy WS Gsen g Sl e B by 50 (e did
S il (S Hamaa v el S s e S G w e
2 Srhe e (S A5 s ! Jlaad) sy 5 Sl g e

_LQJJC.LM;;JISL,DU_‘LMMU_?\PM;L}J

.- =Lkle odidh ) Ll gen
3. dle dib o) o e g se

4. . sadih ol oLl e
(1)
(2)
(3)
(4)

A W N =

1[Option ID=9549]
2[Option ID=9550]
3[Option ID=9551]
4[Option ID=9552]

Sl. No.89
QBID:128089

S st 2R e dib ge o jus g W8I gea g Sl gy K Gbly 53 e J
S 2l (S Dl maea el Jn s i S G w8

‘.:I\_)_LA;LL.:LJJ‘it_l;IL_nBujU.‘:iJ\)1JJ\_1.1_11S\LUJJ_E.¢:U_(.“ J‘Lt_.ljélguo :;gjf;.ﬁ
-dljﬁwdﬁ;iﬂuﬁéjq_jJLA.':I‘-S\_ﬂJSJ\ :J...LYLJ

1. - =kl e dds sl okl e
2. - mpma e dd Ly o e
3.2kl db o e oo

4. - mosadd ) bl oo
(1)
(2)
(3)
(4)

A W N =

1[Option ID=9553]
2[Option ID=9554]
3[Option ID=9555]
4[Option ID=9556]

Sl. No.90
QBID:128090




Sosis- 2B eadb g jup s S WBS Giea e S gy K bl 50 e did
S il (S Hamaa v el S s e S G w e
s =M e el dSl LS S ) 1 e s e
P s s S el S gl 5l Sl S S Gl e pea @S (S s
2. - bl G dd sl okl e
3. - m e e diby e (500
4‘ -/__‘I_LJQ #.‘JJ‘L_J C._wl:._..a;gjs:._‘a
(1)
(2)

(3)
(4)

A W N =

1[Option ID=9557]
2[Option ID=9558]
3[Option ID=9559]
4[Option ID=9560]

Sl. No.91
QBID:128091

S (e Ay S Jlad) K Gae i e I8 ) s

B PSSl wde S au f e S
S opda e s () e g3 px g0 gl
=0 A0S B s eSS = ln oy 5lSan
AW £ 0 S AS Adlenien JELE aaS G oS (S

Mg (SN e e S S A S g el 52 il S
OGS U2 Ul S (e g oS Jjl e Ly
Llad 15 LS 81 < P EPN JUFPQP Q. TR TRLY

Vs oS sl s o Tom S ol

Al p e sl ) g S 8 AlS S e s U1
il da gt L3 B sal 81568 egom B di
Tl BBt o MR o B o8 Pt Bph gt e 5 1l Sl 8 LR

2. S
3.5 A S

4. sn'\F oy
(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=9561]

2[Option ID=9562]
3[Option ID=9563]

4[Option ID=9564]
L ________________________________________________________________________________________________________|




Sl. No.92
QBID:128092

L e i) S el R s e did il sa IS ) g

Cmﬁéﬁsmét_ﬁssjl

—ade S au $ e S

R i pas oyl

R e e

21 S B sl eaS

s ls Boy 53 s

B 0 S Denien

FE A o < I

J:"ﬂ—'\;‘l/_—‘ﬁjﬂc“'“—g‘:ﬂ‘—‘;—'l

A g el 53 Ol 8

OS2 s

OS Qo8 5 8

FEYPEPEIg:

Whaios S 5 el

Vi /_—'_ll 0SS s

Vi e Vg S il

D e i R

PS5 M e 88 U1

Wby da el s S, 5m

L1568 e A

l_dj@tmlﬁ
2. odadl) Jual
3. Ol aus
4 e e

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9565]
2[Option ID=9566]

3[Option ID=9567]
4[Option ID=9568]

¢ R Y a8 e g o gt S Gl

Sl. No.93
QBID:128093

L U (i S el K s e b Gl I8 ) g

e S au $ e Sls

E ® = I 5
'i._?“\T;‘ {"“%.—\J‘ap ajk._ﬂ‘);l

1 e o5 a g e

=5 eSS o sl eaS

i By

BE 0SS s

T s

J:"ﬂ—'\;‘l/_—"ﬂ%'}ﬂc‘“‘—;‘vﬂ“—g—'l

A D) pea Upeal Al e

UGS OO Uk 2 e

GS Uk el = S )

IEYPERE T

Lo adca S ety

Vs /_—'-ll OsS -_9.):,‘31 [

Vs o 1w S sl

Al o se Sl s a8

Al S el et U1

by el K 5m

L1568 g A




Tor S 5 Cosan sl e dleniu) S jdas Jledl w058 e G YL as i

4.6 25 4 3

(1) 1
2) 2
3) 3
4) 4
1[Option ID=9569]
2[Option ID=9570]

3[Option ID=9571]
4[Option ID=9572]

Sl. No.94
QBID:128094

i e gy S el 8 s e Sl e € ) g

B wde S o f e S
S pda e sl () e g5 g 5 sh0 gl
15 S K ool 628 =l ey slS
28 2208 S Dlenien KL 48 [ S S s

e N e e SU Y] A gea el A (0 85
OS UL JL)  Oma g OS gl ol 5 o8 5

L 1 LS (81 5,8 Lhadon S 8 e By

Vs 2 OsS sl e s Ao Tem S el

Al g e o ) e e AlS S e e e U1
il dagtb 3 B sl 1568 egom @i
§ esda SISl g Sl ) s i (8 " e 02 (9) s S ol

1 - =6 oWl 2 Sus ji e
2. o83 GBSl ey w8 (S

4., . & ES 52 S :‘g—"__u Ay S aaa

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9573]
2[Option ID=9574]

3[Option ID=9575]
4[Option ID=9576]

Sl. No.95
QBID:128095




R U Mg S el S s (e e 8 ) s

B S ] e de S e e S
S ads s o5 G e Sl s Jsh0 g
5 0SB (sl 428 el Sy SLS
A8 £ 2SS (Dleaien KL a8 [ S S
N S e gy e Sl S s el 52 8
GS ORI UL 2 Oma g OS gl ol 5 oL 5

L ) LS G S Wrien £ 5% 0l

Yy S 0sS sl Vs S s S aid

Al g se il ) g e ) A S S e e s UID)
il dagth 3 S sal L1568 egsm @ did

i b 0SS ol xS o5 a8 U0 S 4500 Sl S s ()
1 wnay S 30568 Ky SO jail S Jae
2. s S e dalh S s
. JVDRP G T I R I N

4. oras S 2 osson dse
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9577]

2[Option ID=9578]

3[Option ID=9579]
4[Option ID=9580]

Sl. No.96
QBID:128096

i e gy S ol R o e did Gl 1S ) g

Sin o e dely € il ume sae o R o35 SIS Gl SY L Ol 5 S
1_)1mu&ﬁc'1ygénm_‘}% A&M.uﬂégjudu]};dﬁéih:&mm:le L_r?-‘-"‘;-"d"‘“
i 1.5,__3@’_1.1?&; ¢ S ».Mﬁdbéwdlaéﬁq.ﬂqb‘)ﬂsuwclscuu_lu)sﬂ_ﬂs
:\.5_11...;:\_1135_}}_13]‘)0“:]._,«5}«,5 )S‘:S_leLMJL'InSLLA)BGCg_Icﬁ_UJk_IAJ_\AJ} d'IJ_n.o._u.‘nL\_)S_ﬂ
o8 el 5 Sle LS S 5 g S de B ylllan S o 0l £y gl ala S
A ote Sy S o K alle bl il ja hS LS il ) 0l g2S W 5 a5 S Usomier O3
TR RS T S e T AL

fY m ol e Caena (S 8 Sle e Ll W) S0s

1. u&aﬁad&;éo‘ﬁ.ﬁ@
2. e cend (S ke
3. e Cead (So b

4. O Sl (S Sl

1) 1




) 2
3) 3
(4) 4
1[Option ID=9581]
2[Option ID=9582]

3[Option ID=9583]
4[Option ID=9584]

Sl. No.97
QBID:128097

i Ute by ) S ol K e dd O g S Ul g

Kan ol ¢ Gely S b e a0 JEK g T o AS LS alal) SY Lo ol 5 S
11 ZPC}}AéDL&_wb _1:‘1'_1.:.,1;\_1_)_1_1% u]j;dﬁfj\h:&ujm:q}ﬂ \ﬁj.;,_‘ld.l..ﬁ
1‘55"6—”"?5\; _)S'I‘%_-u _LAJ‘/S .abéum/_ﬁsévﬁu.a_ﬂu _51‘1-'11‘5'1515‘./_—”‘—'4*‘“)5'6—"‘
/_1.5_11_.\.\.:1_11‘35_)_,_13\)0._“\_,«5}45 JS‘:S\JJomJbASLLAJscCycﬁ_\JJMJJ d'l_;.n.o..;...\‘._ds_d
o el ) Sl LS S 5l gy S de B ullilan S sidkes Gl 25 n gl Ala S
Mo Sy S G S alle Wl SR S S) e o) a8 ) m ) S sl s
"-Quﬁd1adym1aijs@@h JSn_uciau_Juﬁ_Caj%

€ a0 LS e " HER M e el Vs ) S0

1. _\j:‘;iL\.‘_‘m_‘IAS\_L:

2. el S el
3_ (5\"" US. cl_:ﬁ_‘.l_J

A lig S 4
(1) 1

(2) 2
(3) 3
(4) 4
1[Option ID=9585]
2[Option ID=9586]

3[Option ID=9587]
4[Option ID=9588]

Sl. No.98
QBID:128098

i e g oS B K e dp Dl a IS s

ngjaw1eﬁché¢_}unluu_bﬁpscm_)&£ AJL;'SAJJ Asuswuﬂ1;y1munﬁi£&*'
‘SL_%_M,,&A g K1 __L.,Js _,uég_m,;té‘,x%u \j1gu1ﬁclscu_uujs.ﬂ41g
f—‘%—ﬂ—u L—IJ‘;S_JJJJ‘)M—HSyﬁ S oS olily S e ¢ 8 gl maia 5l Ol oLy (S
osh ey (a3 SLe LS S8 5 Giss S de B glilan S Gside 08l s n el als S
A oe Sy S o K alle bl il ja AS LS il ) 0l g2S W 5 a5 S Usomier Osen
"Ll 8 d1awjdm]AGJSL@éL~L JS\._'MCML.I_‘LJH-CA}




%‘?&AIS/_—'@”JS\}HJ#JSJQ/_A“—‘“&‘C“S = oliialy

| PPN
2. JSn Afr\_rl.a."

3. S euy

4. S ol

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=9589]
2[Option ID=9590]

3[Option ID=9591]
4[Option ID=9592]

Sl. No.99
QBID:128099

i Ute Al S ol K Gae did O g IS g

Fan Gl ¢ Gely S Jllals e a0 JEE g g S LS ) SY Ly olal 5 S "
1}‘-’“;_,‘"?:‘}‘:“&‘31-”—\1‘4 _1:*1._1.:.,1;\_1-‘_)_1_1% u_11j:.d_/j||J:..CuLnJh_l.u.d:le1 \_r“'—"‘-'—"\_)""“
15:"@3'”?& JS'I _L.:JS Abéu_uu/_ﬂéﬁq_yu ‘_51‘1'111‘5'1:15/_—”‘—““‘)5'6—'“
f_l.a_ﬂ_ucl_ﬂjsdj_u‘)om_u_ﬂsjﬁs jsesgomjuﬂsu._aﬁsca_lcﬁ_uﬂx_lma)j d'IJJ;o._...._\.___)S\_L\
osh ey B 3 Sde LS S sl sy S de B ulllan S stades il 45 on s gl s S
Aot Sy S G S alle ol 3135 WSS aln sl a8 g2S W ) m o) S Ogomier Use
”-ILJ“LA.).‘SIJHQ.Q:J}M]AEJSL@%_‘I’LH jSi._'m‘C"iaL..'E_"uJG_I-Caj;

I/__IJ}S”(AS\_U.:LMJIJH d...l_ua“}]uc)‘asm

L. 2 e e S olaly
2. O st S el

3. Ko Selaal

4_ dlLa u_<. cln_:J_‘b
1) 1

(2) 2
3) 3
(4) 4
1[Option ID=9593]
2[Option ID=9594]

3[Option ID=9595]
4[Option ID=9596]

Sl. No.100
QBID:128100




i e gy S ol R e did Gl 1S ) g

Jgu;..dﬂei&chéd%wja.s:J@fgkfajéijluﬁﬂsgswuﬁjsylm\_\m:1/\5\_1.‘:”
1_;&@.‘;;;.:‘1,:_15:,@_\.‘% _1:‘1'12..:,\_1 Jﬂéﬁ_&JJu1};d‘Héﬁﬁr__ﬂm“:JJ1 tﬁ_k‘,_'ld.l-ﬁ
1‘5/_—"63'”(’& _)S'I v._m)swbéuudlcéﬁq.yb)ﬁGUISJCECM\_LIMJS.S_IH
C\.QJL*:\J1}S\_JJJJ\J0|.LHJL_I/\S},S )SeSJoLuabﬂSbLaJsecs_lCﬁ_mumJ} th.I:..b..u..‘lL‘l\_M
og el 3 Sle LS S 5 g S de B lllan 5 o 0l £y cn gl ala S
Ao S ly S G Salle ol 13135 AS 1S ) aln )l a8 g2S U 55 m 5 S Ogomier Usee
ITNET/ L N O EE M T AR O

F U‘GS‘.?JL'SJL”dléJﬂ:‘M}

3 LS st s 8 Uiy )2

4, VLS 1K 1 b Ly oblikisl
@) 1

) 2

(3) 3

(4) 4

1[Option ID=9597]

2[Option ID=9598]

3[Option ID=9599]
4[Option ID=9600]

Sl. No.101
QBID:5201001

The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (i1) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table. answer the question :

City-wise Distribution of Sold Cars

Citv 4 Distribution of | Proportion of Car Models Sold

T Sold Cars P Q R
A 14.30% 1 7 4

B 16.20% 2 3 2

& 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

E 21.70% 3 2 5

3 aIftionT & &% Y631 A-F 8 A19fd DRI &1 981 @1 (i) U= (%) faaRon iR (i) 59 9+t 18 oI 8 A
TS P, Q 3R R &1 S9Td <RI T § | 37 WG § sl 715 BRI &1 G 1.1 90,000 T | AlCHHT &
HIFHST & SMYUR TR TY B JuR gIorg |

RER ([l TS BRI BT a0 9%) BT D R
P Q R
A [1430% 7 7 4
B ]16.20% 2 5 2
C  [1840% 3 3 4
D  ]16.80% 4 3 2
E  |1260% 2 2 1
F |21.70% 3 2 5

What is the number of Model-Q cars seld in all cities together?

31255
31355
31455
31555

Bk




(1) 1
(2) 2
(3) 3
(4) 4

T2t weRl © o e disd Q &1 &4l T3 BRI &1 = 1§ 2

31255
. 31355
. 31455
. 31555
(1) 1
) 2
(3) 3
(4) 4

[

S )

1[Option ID=13201]
2[Option ID=13202]
3[Option ID=13203]
4[Option ID=13204]
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F

and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cité 05 Distribution of| Proportion of Car Models Sold

it Sold Cars P Q R
A 14.30% 7 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
E 21.70% 3 2 3

o Attt & ©% T6R1 A-F § O10fd RI &1 9811 &1 (i) U= (%) faaRo iR i) 59 94t 718 &Ri 8 3F
TS P, Q 3R R &1 S9Td a=NA1 T § | 37 WG H ol 715 BRI &1 G 6.1 90,000 § | Al &
HiDHSI & YR G FY B IR GIforU |

e PN BT S R
D Q R
A 14 30% 7 7 4
B 16.20% 2 5 2
C 18 40% 3 3 El
D 16.80% 4 3 2
E 12 .60% 2 2 1
F 21.70% 3 2 5

What is the difference between Model-P cars sold in city-D and city E ?

2184
L2204
. 22904
L2244
1)1
(2) 2
3) 3
(4) 4

YR D 3R YR E AP Alsa P PRI & &g BT TR 1§ 2

L2184
2204
. 2294
. 2244
(1)1
) 2
(3) 3
(4) 4

| SR

N 5]

[

ER )
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

- 04 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R
A 14.30% 7 7 4
B 16.20% 2 3 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

e AIfcienT & B8 TERi A-F H A10fd BRI &1 =11 &1 (i) U= (%) Ao iR (i) 39 gt 18 &Ri 3 dF
TS P, Q 3R R & U <11 71§ | 571 M6 B &l 15 DRI D1 Hal G- 90,000 € | AT &
3PSl & YR TR U BT FR glio |

EY (@91 T3 BRI @I [Ga (%)

EERLEIEHEAE RG]

P

Q

R

14.30%

7

16.20%

18.40%

16.80%

12.60%

=l el =] Ee =1 =S

b | o ff 0 || B | 1

b || 2 || W2 || W

hffe=fra =] =

21.70%

s}

2

The number of Model-P cars zold in City D is approximately

City A

1. 145
2.185
3.83
4. 235
1)1
(2) 2
3) 3
(4) 4

% of the number of Model-R cars seld in

WER D ¥ [§@! AlSe p SR &1 G871 Wer A T 90! Aisw R BRI @1 W61 &1 @y fard= Hia=id (%) § 2

1. 145
2. 185
3.83
4,235

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13209]

2[Option ID=13210]

3[Option ID=13211]
4[Option ID=13212]
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (i) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000, Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Citv % Distribution of | Proportion of Car Models Sold
”5' Sold Cars P Q R
A 14.30% 1 7 4
B 16.20% 2 ¥ 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
E 21.70% 3 G 5

e Attt & B8 TeRi A-F T O10f BRI &1 =01 &1 (i) U2 (%) [aaRor S8R (i) 39 946t 15 &1 5 3F
TTST P, Q 3R R BT 3UIT SR § | 57 XeRl H &=l Tg DRI I e HBAT 90,000 © | AP &
HIDHSI & HYR U Y DI IR ST |

X (&9 g @RI @I G (%) jﬂwqiﬁﬁ 1R

7

14.30%
16.20%
18.40%
16.80%
12.60%
21.70%

b | A [ W || B | 1

Sl =1k =
T [ b [ [ [t
Ch = [ ta | = t2 | =

S}

Number of cars sold in City F is approximately % more than the number of cars sold in City B

13
34
21
2N

ol

1)1
(2) 2
(3) 3
(4) 4

YER F 1 @] BRI &) G901 UG B T adl T3 HRI 1 e I T4 (e Ufa=id (%) s g 2

13
34
21
275

O

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13213]
2[Option ID=13214]

3[Option ID=13215]
4[Option ID=13216]
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (i) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000, Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Citv % Distribution of | Proportion of Car Models Sold
”5' Sold Cars P Q R
A 14.30% 1 7 4
B 16.20% 2 ¥ 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
E 21.70% 3 G 5

e Attt & B8 TeRi A-F T O10f BRI &1 =01 &1 (i) U2 (%) [aaRor S8R (i) 39 946t 15 &1 5 3F
TTST P, Q 3R R BT 3UIT SR § | 57 XeRl H &=l Tg DRI I e HBAT 90,000 © | AP &
HIDHSI & HYR U Y DI IR ST |

X (&9 g @RI @I G (%) e Y HiS el o1 ST
P Q R
A [14.30% 7 7 n
B [1620% 2 5 B
C |1840% 3 3 n
D  [16.80% n 3 B
E  [12.60% 2 2 1
F  |21.70% 3 2 5

What is the ratio of the number of cars sold in City C to the number of Model-Q cars sold in City D?

19:5
27:8
2327
33:10

o

S Y

1)1
(2) 2
(3) 3
(4) 4

TeR ¢ H o 718 BRI 31 I 3R YR D § Aisd Q @ (9@ $RI &1 W01 & &g & S 1 8 2

19:5
278
237
33:10

O

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13217]
2[Option ID=13218]

3[Option ID=13219]
4[Option ID=13220]
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Which of the following techniques is recommended for approaching and disciplining a student who may be
prone to explosive behaviour?

. Move swiftly and get as close to the misbehaving student as possible.
. Ensure that there are several witnesses to the confrontation.

. Be respectful, brief but assertive.

. Use a loud voice to establish power.

1) 1

(2) 2

3) 3

(4) 4

o b




Wﬁgﬁ%m%ﬁ%%ﬁﬁ@m@aﬁ%mﬁaﬁﬁﬁmmﬁm
DI 2

1. T@TA UE TTER $- ard faemdf & gyt gvg e g1 o |
2. U8 G o b a1 81H & 99g 3 Aiaft 5 |

3. YHIFYde, Y& T U] Tearyde §1d B |

4. Qe RTYT B & eI Sl SATarsl &1 Ui &Y |

(1)1

2) 2

(3) 3

(4) 4

1[Option ID=13221]
2[Option ID=13222]
3[Option ID=13223]
4[Option ID=13224]
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Ishita had been practicing her multiplication tables for weeks before her yearly test. She knew all her facts
completely. This type of knowledge that Ishita now has attained does not require attention and concentration.
This process is known as which one of the following ?

1. Flashbulb memory
2. Schema
3. Automaticity
4, Procedural memory
1) 1
(2) 2
(3) 3
4) 4
STRIaT SO ot ORian 3 Ugd g9 3 UGTS! I ST ®R Xel AT | 98 IR a2 i 9X1 ave o ot of
| SR 7 319 o YR &1 17 I a1 8 S9H &9 & 3R S50 337 &1 Saxgedl 71 ol © | 59
Hichar &1 9 T 9 iy =0 1 @ S g 2

1. BiY-ged Wi
2. THH

3. WA
4. yisharers wfd
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13225]
2[Option ID=13226]
3[Option ID=13227]
4[Option ID=13228]
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Mateh List I with List IT :

LIST I (MOOCs Four Quadrant LIST TI (Component)
approach)
A |[Quadrant - I I |e-content
B. |Quadrant - II II. |Self-assessment
C.  |Quadrant - [T 1. |e-tutorial
D Quadrant - [V IV. |Web Resources

Choose the correct answer from the options given below :

. A-IIL, B-IV, C-1, D-II
. A-IV, B-1, C-II, D-II
. A-IIL, B-I, C-IV, D-II
. A-IV, B-1I, C-III, D-I
11
() 2
(3) 3
(4) 4

L S ]




Tail 1 1 g1 11 ¥ A Piferg

T 1 (G F IR UTS 3THATH) T 11 (TCH)

A |uEl L [g-eiddsg

B. [Oqm I [E-HdidA

C. [gm L. [3-cgeliad

D [dGQIv V. |39 gareE
Fafeiad fameal & 9 el 3R & =97 DI -

1. A-IIL, B-IV, C-I, D-II

2. A-IV, B-I, C-IIL, D-II

3. A-IIL, B-1, C-IV, D-II
4. A-IV, B-11, C-II1, D-I
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13229]
2[Option ID=13230]

3[Option ID=13231]
4[Option ID=13232]
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Match List I with List IT

LIST I (Behavioural Models)  [LIST II (Developers / Redevelopers)
A [Mastery learning I |Carl SmithMary Smith
B G o Benjamin Bloom/James
Black
C. |Social learning III. |B.F. Skinner
D Programmed sc_hedule (task v |Albert Bandura/Carl
performance reinforcement) " |Thoresen/Wes Becker

Choose the correct answer from the options given below:

A-IV, B-I, C-II, D-TII
A-IL B-I, C-IV, D-III
A-IL B-IV, C-1, D-III
A-IV, B-I, C-IIL, D-II

b=

bt

1)1
(2) 2
(3) 3
(4) 4

el 1 1 Gl 11 9 T Biforg

a:q‘h (ETERTHS dieeH) qﬁurﬁmﬁﬁgﬂﬁﬁmﬂﬁ
[TTaToTa SHfeTH Tl T Y
ERtatkl L[S sgH S s <
grETSTE ST UL &l Uh. &R

(a0 SR el (@ | . [ dg I Ve
FSI1E UGG 1) T [EER

Fafeied fdeedl O U Ug! ST & 999 I :

A-IV, B-I, C-II, D-III
. A-II, B-I, C-IV, D-II
A-IL, B-IV, C-1, D-III
A-IV, B-I, C-IIL, D-II

o [o|w|>

W

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13233]
2[Option ID=13234]

3[Option ID=13235]
4[Option ID=13236]
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Given below are two statements :

Statement I : Sensory memory is that memory which helps an individual to recall something immediately
after having perceived it.

Statement IT : Semantic memory is that memory which helps in storing as well as retrieving a collection of
relationships between events or association of ideas.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement I is correct.

1) 1

2) 2

(3) 3

(4) 4

& e o o i

2 —

FY9 1. 6 T I w@ia & S e @afs B o 9 wa & dool SHE g TR0 9N # derar
A T

Yy 11 #Y 1 Tfa o5 w@fd ¥ 5 oRgeanst sgar Rl & gee & 9 & gaui & dow & HERuT @
Q- # Ferdd AR & |

3UTh @A @ 3Telieh &, e GT W faeheul & & Ha8 3Uh 3TR @1 T Shifald:

1. %= 13t na=t a8 §

[

T 1R n et g E

. FUE 1Y L e e L aed B

LV )

4. U= 1970d &, oifeheT U= I a8 &l
()1
(2) 2
(3) 3
4) 4
1[Option ID=13237]
2[Option ID=13238]

3[Option ID=13239]
4[Option ID=13240]

Sl. No.111
QBID:5201011

Given below are two statements :

Statement I : If we accept a hypothesis when it should be rejected, we say type I error has been made.
Statement IT : If we reject a hypothesis when it should be accepted, we say type II error has been made.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement IT is true.

(1)1

(2) 2

(3) 3

(4) 4




HYU [ afe 5o T Il UreheUs @ TR ag ¢ el 3edigg Gar SiET =T o9 g O% A9 G
¢ 5 sad asu 1 gfe & =T

FUT 1177 & U U Uidheuar o ITAHR R & Sdich 59 TR RAT ST WY, O9 & I% A
Tod t Fcad esm u g & ool &

UL U @ el A, A" T v faweul #@ § a8 3ugs IaLar Ta- Hile:

1. %y 13 naE aco ¥

=)

e 13k naEt s ¥

3. %Y [9cT &, dfehd &ua I13EcT 1

4, U 130T &, ofehd HuaT I B
1 1
) 2
@3) 3
(4) 4
1[Option ID=13241]
2[Option ID=13242]

3[Option ID=13243]
4[Option ID=13244]
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Which of the following softwares are used for checking plagiarism?

Turnitin
e-view
Scopus
Urkund
Quetext

MmO 0wpe

Choose the most appropriate answer from the options given below :

A, Band D only

.B. C and E only
3.A.Dand E only
4. C.D and E only

1)1

@) 2

(3) 3

(4) 4

gifefde TR @ 9" o4 & o 9§ 2 - ameda’l o1 wa [ s g 2

A cHfeT

B. 35
C. pIug

D. 3F'S
E. Bede

9 fau e fasedl § T e Sugad STk 61 99 HIfoIe:

ko =

1[Option ID=13245]
2[Option ID=13246]
3[Option ID=13247]
4[Option ID=13248]
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Which of the following methods are used to measure reliability in research?

Chain-referral sampling
Test-retest

Split-half

Inter-rater

Judgemental test

monw >

Choose the correct answer from the options given below :

1. A, B and C only
2.A,Dand C only
3.B.Cand D only
4. C.D and E only

(1) 1

2) 2

3) 3

4) 4

My H [ayg-igdn &1 719 & e 4 1 9 o7 faftal o1 wai feoar siarg 2

A, y@ar "aliia wloeed
B. Wi9-: & F

c. fayaars

D. JaFuRe EeRen)
E. g [oig &g

i feu e famedl § 9 T8l 3R &1 994 BIfoT:

1. BAdA A, B, C
2. $Add A, D, C
3.%ddB,C.D
4.%ad C, D, E

1) 1

(2 2

(3) 3

(4) 4

1[Option ID=13249]

2[Option ID=13250]

3[Option ID=13251]
4[Option ID=13252]
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Given below are two statements :

Statement I : t-tests are appropriate only when the dependent variables being measured are continuous.
Statement IT : Chi-square statistic allows us to test hypotheses using both continuous and ordinal data.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement IT is true.

1 1

@) 2

(3) 3

(4) 4




B EAIECRIE
PYT : t-CF DT IHI SUYE BId & o8 HITUd M3 =R Fefd &f |

DY 11 : P, THARR FIRTD! 61 ad R PGS B! G 1 TN PR Wb ed P o g DI
&g

IR HYA & AT 1, -1 3T T fadwed] T I Tl SR &1 99 SIfeid:
1. BUT I AR 11 & 9
2. BY SR I T S &
3. BYT 1 I 2. b HYU 11 3 B

4. PY G 8, AP FUT 1 I B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13253]
2[Option ID=13254]

3[Option ID=13255]
4[Option ID=13256]
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Given below are two statements :

Statement I : UGC-CARE list includes all the scopus, web of science. and MLA indexed journals.
Statement II : Open Access Journals are predatory journals,

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I 1s false but Statement II 1s true.

1 1
(2) 2
(3) 3
(4) 4

EIEEAEAIE AU
BY I ToOI1-TTUSRE Gt & Wt W10y, 3 3 Wisy 3R THUaT oies oHd A ela & |
FYT11: Tad A SHa g oA s @ |
SIRIdd PYU B 3MTadld H, I 4y T fap et 7 T Hel S o1 90 Sifo:
L FYFIAR TG 9T T |
2. BYF SR A AT |
3. BYT 1 I 2. b HYUT 11 3 B

4. FYT I A B, W U 1 FA 2
@1
2) 2
@3) 3
(4) 4
1[Option ID=13257]
2[Option ID=13258]

3[Option ID=13259]
4[Option ID=13260]
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The people's preconceptions and frames of reference, and spreading one's own limited attitudes towards issues
and images result in:

1. Stable identity

2. Social harmony

3. Positive public opinion
4. Stereotypes

(1) 1

(2) 2

(3) 3

(4) 4

@R 1 gayRonS, S5y & gRRI 3R gel d Bfadl & Ui 39 -l Siftd siyghmdl & uaR &1
frafafad o 9 = giom grar g 2

1. RR ugaH
2. rHIfoTS JIeTe
3. YPRIAT oA
4. Si¢aggar (EIRGIeEw)
)1
(2 2
3) 3
(4) 4

1[Option ID=13261]
2[Option ID=13262]
3[Option ID=13263]
4[Option ID=13264]
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In mass communication the audience is:

1. Identifiable
2. Relatively small
3. Heterogeneous
4. Homogeneous
1)1
(2) 2
(3) 3
(4) 4

IR T g FeREa i e Ea g 2

1. SR
. 3UETHd BH = 1
fawmadl
ozl

S

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13265]
2[Option ID=13266]

3[Option ID=13267]
4[Option ID=13268]
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The meanings of visual images depend much on:

Individual perception

Social perception

Political links

. Economic benefits

. Representational Connections.

MO QW

Choose the correct answer from the options given below:

A, Band C only

.B. Cand D only
3.C.D and E only
4. A, B andE only

1)1

(2) 2

3) 3

(4) 4

=g fiei & o PR A g Rl Rk a=a g 0

A. Jufdds Sy
B. THII® d1Y
C. Ioa® Jud (@)
D. 31 wgfaumg
E. Wiaie dey
i feu e famed] § 9 T8l 3R &1 994 BIfoT:

1.$dd A, B, C
2.$ddB,C, D
3. %90 C,D,E
4. PATA.B.E

(11

() 2

(3) 3

(4) 4

[

1[Option ID=13269]
2[Option ID=13270]
3[Option ID=13271]
4[Option ID=13272]
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Given below are two statements :

Statement I : The right to communicate can prompt the emergence of negative liberty though its positive
impact cannot be overlooked.

Statement IT : The hidden impact of free market place has diluted the concept of free speech to suit the
corporate ends.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement I are false.
3. Statement [ is true but Statement II is false.
4. Statement I 1s false but Statement IT s true.

(1)1

(2) 2

(3) 3

(4) 4




e @ pyF fag e &

Y [ : TN BT DR THRIED Wdadl b 30 &I URd B bl ¢ Tt 39S GHRIAD THE 6I
S el fPaT S ghar g |

DY 11 : o §OR WA b Jod THIG - DRURE Tedi & 3= 1P WG4 BI YR B §UDT B
faarg |
SWRI P & 3fTciie H, 19 14U Y faseul 5 T 9el 9wk &1 98- DI

L. FYHF ARG 9T B

HYT I AR 1A SR |

HUYT IR, AP PYT I 3T & |
FYF AL, AT HYI I A |
1) 1

(2) 2

(3) 3

(4) 4

e L b2

1[Option ID=13273]
2[Option ID=13274]
3[Option ID=13275]
4[Option ID=13276]
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Given below are two statements :

Statement I : The capacity of words need not have any connection with truth.

Statement IT : There is a human tendency to conceal facts and suppress the truth while communicating.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I 1s incorrect but Statement II is correct.
1y 1
2) 2
(3) 3
(4) 4

9 & PU= AT T §: TP SHAUD YT (Assertion A) T =9 § {710 & 1 GHRI SHD BRUI (Reason R) B
U

SHUGHYT A : Tsg] B & BT T P 1Y Dl Ga G HaTF el © |
HRUIR : GG Rl G0 a2l B SUFT 3R I DI GaH IHAG UaRi g |
SWRIT Y & 3 H, 4 f3u T fasedl & I 99 Iuged 3wk &1 90 Biford |

CAMRREAI T E IR R AT IS AR |
ASRR AT E, AP R, AT TS TR R © |
ATEI S AR TR ST ® |

AT IR AfrTRr EE B

@1

@ 2

@) 3

) a

b =

U S Y

1[Option ID=13277]
2[Option ID=13278]
3[Option ID=13279]
4[Option ID=13280]
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Find out the third common term between the two given Arithmetic Progression (AP) series given as :
3.7, 1,15; and 1, 6, 11, 16,

31
43
3.51
4,47
1) 1
(2) 2
3) 3
(4) 4
fgiferd & = o 31 <t et gaR 4oft (Tdl) & 99 JR 9= UE &1 i Sifod
3 TS e
3R

1,6, 11,16 .........

aes

31
43
3.51
4 47
1) 1
) 2
(3) 3
(4) 4

i

1[Option ID=13281]
2[Option ID=13282]
3[Option ID=13283]
4[Option ID=13284]
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A person can do a piece of work in 18 days. After working for 12 days. the person leaves and another person

joins and completes the remaining work in 8 days. In how many days this 2nd person can complete the whole
job?

20
24

29

18

b= —

L2

1)1
(2) 2
3) 3
(4) 4

WA TE e e sA T asa s  Rnidide el e s Iad B A P B oIS adl 8
AR GHRT G BT BT HAT YR HAT & aul U9 S &1 8 T T RIP ddl © | T8 GH1 oladd o9 IX
mﬁﬁmﬁﬁ?‘fﬁl{ﬂmw%?

20
24
22

18

-l

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13285]
2[Option ID=13286]

3[Option ID=13287]
4[Option ID=13288]
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The average salary of 25 workers in an office is Rs. 6,000 per month. If the salary of the manager is added, the
average becomes Rs. 6.200. What is the annual salary of the manager?

1. 73,200
2.1,34,400
3.1,58,600
4.1,03,200




) 2
3) 3
(4) 4

fepft rafer & reied 25 4fiet @1 iad 307 6000 FUH TR § | 3fE S e &1 3a 2t s
e STl § <l 78 $f1d 6200 304 B ST § | WS P a1t de e g 2

73,200
. 1,34,400
. 1,58,600
. 1,03,200
1) 1
(2 2
3) 3
(4) 4

b=

S )

1[Option ID=13289]
2[Option ID=13290]
3[Option ID=13291]
4[Option ID=13292]
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In what time a sum of money will double itself at the rate of 8% per annum simple interest?

1. 10.5 years
2. 12.5 years
3. 9.5 years
4. 11.5 years

1) 1

(2) 2

(3) 3

(4) 4

D5 U A 8% Hidas AIHRUT <47 $1 &3 4 b wra & gt o) smaft 2

10539
12599
L0599

15Ty

(1) 1
(2) 2
(3) 3
(4) 4

da Lo D =

1[Option ID=13293]
2[Option ID=13294]
3[Option ID=13295]
4[Option ID=13296]
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A shopkeeper sold two articles at Rs. 12,000 each. He sold one article at a profit of 20% and the other one ata
loss of 20%. What is the net gain or loss to the shop keeper?

1. A loss of Rs. 1000
2. A gain of Rs. 1000
3. Aloss of Rs. 3,000
4. Aloss of Rs. 1,500

1) 1

(2) 2

(3) 3

(4) 4

Ll gHMERA gl a¥gsii § 9 U I 12,000 YUY H €41 | T U TE] Pl 20% P A UR &1 U5 SR
TE B 20% B B1 TR 941 | GHHER B o a1 TN 1 fbai g 2

. 1000 TUY BT §IH
. 1000 YT HT ATH
. 3000 YT &I B
. 1500 3YU &1 B1H

1) 1
) 2

[

[EEN )




3) 3
(4) 4

1[Option ID=13297]
2[Option ID=13298]
3[Option ID=13299]
4[Option ID=13300]
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Which informal fallacy is committed in the following argument - "Scientists have been trying for centuries to
disprove the claims of astrology. and none of them has ever succeeded. Therefore, we must conclude that
astrology's claims are true" ?

1. Slippery slope
2. Hasty Generalization
3. Aurgumentum ad Ignorantian (appeal to ignorance)
4. False Cause
1)1
(2) 2
3) 3
4) 4
e gfta 5 3 1 sFraTe ah-ai § - It & defe Sifay & 3rdl o Wfsd a3 &1
Wﬁgﬁ'% 3R 3 I DIL oft Hft o el gan © | Sia: 5 Fspd FRaptamn =ifet i wifow & 2@
RIGAE

T aeHged gar (ol wi)
SHGaRT GrERiHRul

1
E:Wgﬁmmﬁﬁm
4. TRy

1[Option ID=13301]
2[Option ID=13302]
3[Option ID=13303]
4[Option ID=13304]
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Which of the following propositions can be directly inferred from the statement - "All mammals are four-
legged animals?

1. All animals are four-legged mammals.
2. No four-legged mammals are animals.
3. Some mammals are four-legged animals,
4. All four legged animals are mammals.
1 1
@) 2
3) 3
(4) 4

?131%11@?{ gl ¥ ¥ frue! 50 Sy ¥ Ydaa: SHI-d 81 o Sl © - 9y T-uRT =mar ug]

1. it oy o WA § |
2. FI +ff T T I T R
3. T8 WAYR SUmET Y § |
4. i oy Uy AR € |
(1) 1
) 2
(3) 3
(4) 4

1[Option ID=13305]
2[Option ID=13306]
3[Option ID=13307]
4[Option ID=13308]
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Which of the following statements is contrapositive to the following statement - "Some dogs are not
aggressive animals"?

1. Some aggressive animals are not dogs.
2. Some dogs are aggressive animals.

3. Some non-dogs are aggressive animals,

4, Some non-aggressive animals are not non-dogs.
(1) 1

(2) 2

(3) 3

(4) 4

frafafad Syl § 9 BiF @ fafafad Sy & ufduialdd 8 - $ D afihH® Uy el 8 2

1@%?&1@@%
?WW%I%
|

5 @ﬁ? &Wm@?—ﬁ%"f%‘ |
1 1
(2) 2
3) 3
(4) 4
1[Option ID=13309]
2[Option ID=13310]

3[Option ID=13311]
4[Option ID=13312]
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Which of the following statements are contradictory to each other?

A. All objects are perishable.

B. Some objects are not perishable.
C. Some objects are perishable.

D. No objects are perishable.

Choose the most appropriate answer from the options given below:;

1. Aand D only
2.B and D only
3. Cand D only
4. Aand C only

1 1

) 2

3) 3

(4) 4

T d T oH 9 $yT WaR Tl g 2

A TN TIBRE |
B. PO IR PR TS |

C. PO TGLTRE |
D. &S W ag R |

9 fau e fasedl ¥ ¥ gad Sugdd STk &1 99 HIfoie:

1.%ad A IR D
2. %ad B AR D
3.%ad C ARD
4. BT A AR C

1) 1

) 2

3) 3

@) 4

1[Option ID=13313]
2[Option ID=13314]
3[Option ID=13315]
4[Option ID=13316]
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To find my way about in a village I ask a resident for guidance. Which of the following instruments of
knowledge is used according to classical Indian school of Logic (Nyaya)

1. Perception (Pratyaksa)
2. Similarity (Upmana)
3. Inference (Anumana)
4, Verbal Testimony (sabda)
(1) 1
(2) 2
(3) 3
(4) 4

Ud U8 H 397 g1 &1 o & fag 34 arieeiE gq Ue THari 3 97 48T | Rad YR O Jd &
SR Fafafed 3 3 39 & fog g &1 wam fem man g 2

W&
GUHMH

HIAH
R

O

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=13317]
2[Option ID=13318]

3[Option ID=13319]
4[Option ID=13320]
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Which of the following applications A-C are built on top of open-source digital platforms?

A. Google Earth
B. DIKSHA
C. MySQL

Choose the correct answer from the options given below.

1. Aand B only
2. Aand C only
3.B and C only
4. A BandC

1) 1

(2) 2

(3) 3

4) 4

A-cgﬁﬁa@ﬁaﬁﬁa‘ﬁ SV (3iiepRr) H ¥ S gad-Hid [Sfoed wiew & i w [l
BIAE?

A TTE 31 (Google Earth)
B. GI&fT (DIKSHA)
C. TS T (MySQL)

- fau e fowedl # @ el SR @1 99+ Sifve:

1. Had A IR B
2. FaAAARC
3. %aaB AR C
4. A B3RC

1y 1

) 2

3) 3

@) 4

1[Option ID=13321]
2[Option ID=13322]
3[Option ID=13323]
4[Option ID=13324]
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Which of the following statements (A-C) are correct with reference to Web 3.0?

A. Web 3.0 technology (theoretically) puts user data and web content into user's hands.

B. Centralization is a core tenet of Web 3.0

C. In Web 3.0 world, block-chain based networks, transactions and businesses will thrive in the coming
years.

Choose the correct answer from the options given below :

1. Aand B only
2. Aand C only
3.Band C only
4. A BandC

1)1
() 2
3) 3
(4) 4

39 3.0 & T A Fefaf@a syt a-o) HIFHITHE 2

A. 94 3.0 URIAS! (Ragida:) waiedl STel Ud dd [qsaw] &1 Wilddl &I Sudsd Il § |

B. H1oR01 3§ 3.0 BT A RIS © |

C. 4§ 3.0 ST AT Nl A &l o WR SA1Rd "edd ¥ YoIaeR SR ogau™ Hail-pald |
i feu T famed] § 9 T8l 3= &1 994 BIfof:

1[Option ID=13325]
2[Option ID=13326]
3[Option ID=13327]
4[Option ID=13328]
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Given below are two statements :

Statement I : The inventor of WWW is Bill Gates.

Statement IT : IPv6 protocol defines an IP address of 128 bits.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I 1s false but Statement IT s true.

(1)1

(2) 2

(3) 3

(4) 4




EIECIE TR
FY 1 : S 3o S&Y (WWW) & MTDPRS [ e @ |
PUF L1 : 3TeUIdl6 (IPv6) Weidid 120 e & Medl Tod &1 uRUTNd Hars |
TRIGd Y & i 3, 2 Ru T fae el & ¥ 98l 9ok &1 99 S
1. BYA T AR G 9 |
2. FYA SR 11 & S B

3. ®YT 1 I 8, A HY 11 3T B

4. BYF AT 8, Ao BT 11 9 g
(1) 1
(2) 2
(3) 3
(@) 4
1[Option ID=13329]
2[Option ID=13330]

3[Option ID=13331]
4[Option ID=13332]
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Consider the following Excel spreadsheet :

A B C D E F
1 3 5 1 2
2 2 3 3 2
3 4 5 7 2

What is the value of the formula = SUMIF(B1:B3, "=" & 3, C1:C3)

1.3
2.5
3.7
4.8
1) 1
() 2
3) 3
) 4
FFrafaRad v Sisgiic )R f[daR Sl :
A B C D E F
1 3 5 1 2
2 2 3 5 2
3 3 5 7 2

A : =SUMIF(B1:B3, "=" & 3, Cl:CS}WIﬂ:TfF:IT%‘?

PR D
G =] Lh T

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=13333]
2[Option ID=13334]

3[Option ID=13335]
4[Option ID=13336]

SlI. No.135
QBID:5201035




Given below are two statements :

Statement I : SWAYAM is a platform developed by Ministry of Education and AICTE to bridge the digital
divide among students.

Statement IT : UGC is a National coordinator of SWAYAM for non-technical Post Graduation education to
ensure that best quality content is produced and delivered.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I 1s true but Statement II is false.
4, Statement [ is false but Statement II is true.

1) 1

2) 2

(3) 3

(4) 4

TR FE e

FY [ TUH (SWAYAM) B! & Aed fEfed s &1 @rs & grea & g fRian darem iR
TSNS (SIUTIRT) gR1 fawd te wew & |

BYT L1 : GOl TR-Ab11oh] AITDITR (1M o [Ty WaH (SWAYAM) BT IV1Y U0 ¢ forgd ghfga
1 U 5 Fatad oaargu! [ASaawq &1 AT SR Ferii &1 5 |

IIRIGd HYF F 3Telies #, 719 U 70 fowedl § 3 U8l SR &1 997 S ifeig:
1. YT R 11§ B
2. FYT I IR 11 ST ST B

3. PYTIIT e, AT HYT I 3T B |

4. BY AL, BT HYT I I E |
1) 1
() 2
(3) 3
@) 4
1[Option ID=13337]
2[Option ID=13338]

3[Option ID=13339]
4[Option ID=13340]
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Arrange the following Earth's water compartments in increasing order of the amount of the water they hold.

A. Rivers and streams
B. Fresh lakes

C. Atmosphere

D. Ice and Snow

Choose the correct answer from the following options given below :




gl & Sfdl SUGUS| Bl I gRT YR e A1 & §¢d pH H oIaieyd Hifeu |
A, Afeal 3R Sie- 4RI
B. il 5Tt 31 il
ok
Dgg\’ﬁﬁ%ﬂ
i feu T fomedl § O 5l 3= &1 994 S Iui:

1.A,C.B.D
2.C.A.B.D
B.A,D
BDiG

L

6
B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13341]
2[Option ID=13342]

3[Option ID=13343]
4[Option ID=13344]
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Given below are two statements :

Statement : I Municipal solid waste includes Garbage and Rubbish.

Statement IT : Garbage consists of both combustible and non combustible materials.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II is false.
4, Statement I is false but Statement II is true.

11
(2) 2
(3) 3
(4) 4

TR PERTTE
PYA I : TRUNAD] & 619 AT § FSL-BDHE (Ma) HR Ble-hars (I FEa g |
BYA11: PSI-TDE U saa-=id SR oaa-LiTd a1 Qe Siferd gidi & |
SRIF PUA $ 3fTaie |, 719 14U Y facedl T ¥ Iet SR &1 904 DI
1L BY ARG T T |
2. FYF T AR GHT 39A T |

3. PYTIITE, AT PYT I 3T ® |

4. PY T E, AT P I g |
1
() 2
(3) 3
4) 4
1[Option ID=13345]
2[Option ID=13346]

3[Option ID=13347]
4[Option ID=13348]
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Given below are two statements :

Statement : I In many cases, both organisms and human infrastructure will not be able to move or adapt
quickly enough to changing climate.

Statement IT : Infectious diseases are likely to increase as a result of global warming.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II is false.
4. Statement I 1s false but Statement II 1s true.

1)1
(2) 2
3) 3
(4) 4

EIECAE ISR g

DU : 3D HHE! H il IR HIG HaURIAI G+l Seerd! sierdry o Ui Qe deer a1 sidad §
e el 8 |

PYAL1 : TS AT (A% a9 & URUMERG=Y epTHep 011 1 gl 1 HUIaI§ |
SIS B & MTeils H, A 14U T fawedt & 9 Iel STR &1 997 Fifo:

L. P ARG TAE |
DY T AR TG AT |

[

3. PYTIIT 8. AP HFYT I 3T R |

4 FY AL, AP FYA I TIE |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13349]
2[Option ID=13350]

3[Option ID=13351]
4[Option ID=13352]
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Major contributor to carbon monoxide emissions in metropolitan arcas of India is/are:

1. Industrial Sector
2. Domestic Sources
3. Transport Sector
4, Agriculture Sector

1) 1

(2) 2

3) 3

4) 4

URA & HeFTRIA &3 & e JH1aEs oo § UgE dreH [aal § 2
. 3iEnfie &=

IR

. givae &

Py &

B

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13353]
2[Option ID=13354]

3[Option ID=13355]
4[Option ID=13356]
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Given below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A : Although internal-combustion engines used in today's vehicles can be adapted to burn hydrogen,
hydrogen powered combustion engines probably are not the future of hydrogen fuelled vehicles.

Reason R : It is more efficient to convert hydrogen energy directly to electricity using fuel cells.
In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. Ais true but R is false.
4. Ais false but R is true.
(1) 1
(2) 2
(3) 3
(4) 4

1 &1 PU= AU T §: TP SHUD YA (Assertion A) T =9 H {710 & 1 GHRI SHD PRUI (Reason R) P
U

SHIHDHYT A : GEY STl b dTe-l § Ugad HIIRD-56 Sol-1] Bl 8155/l gg- & [’ sidpierd fbar
o Gl 2, BI5S I NH-3NUIRd g8 goi9 SYad: Bi5Sior Su- are- & 4w gt § |

PRUTR : WA U B ITIN Pl GU BTG oI ol Bl Ald [ded & S UiaRol AT S 38 ¢ |
IRIF FYA & A 1, g [SU ITE [amedl § I Yol 3R &1 99 ST |

AIRREAIIE IR R, AP TR AR |

A SRR EF G E, AT R, A P Ge AR ET & |
3. AU R AP R TTE |
4 AT AGIRTTS |

@ 1

() 2

3) 3

(@) 4

b2 =

1[Option ID=13357]
2[Option ID=13358]
3[Option ID=13359]
4[Option ID=13360]
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While planning for higher education development in India in the twenty first century, the guiding principles
should be :

. Access

. Empathy

. Equity

. Accountability
. Quality

Mmoo we

Choose the correct answer from the options given below :

1. A B and E only
2.B.C,DandE only
3.A.C.,DandE only
4. B, C, and D only

1 1

(2) 2

(3) 3

(4) 4




=aH gl Uel 8 URd § 3= e & 9w & e & ey arfeel Rgial & Fafatad g= =ftw:

A, iy
B WA
C. gHE®

D. ITRalfdd

E. T[UaT

i feu e fosedl 1 9 wed SUgad Sk &1 99 SIE:

1. $aA A, B 3R E
2. %adAB, C,D 3R E
3. PAAA.C,D IR E
4.%adAB, C ARD
1

(2) 2

(3) 3

(4) 4

1[Option ID=13361]
2[Option ID=13362]
3[Option ID=13363]
4[Option ID=13364]
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Which of the following ancient systems is focussed on laws of matter and force and of combination and
disintegration?

1. Vaisesika

2. Nirukta

3. Chhanda

4. Grihya Sutras
1)1

(2) 2

3) 3

(4) 4

fofafad 5 ¥ o9 3w gsfa gerd @ik aa gyt 9o vd fouem & oai mafsa g 2

1. JRd@HT
2. e
3.9g
4. 78 A
(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=13365]
2[Option ID=13366]
3[Option ID=13367]
4[Option ID=13368]
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According to NEP 2020, what percentage of learners of schools and higher education system shall have
exposure to vocational education by 2025.

. 40% of learners
. 50% of learners
35% learners
30% learners

A

(1) 1
(2) 2
(3) 3
(4) 4




TS 2020 F SHTUR, ITHdl 3R 3o RI&T USId & SRS disi B1 a1 9ia<id ay 2025 I
TGS TR1&1 Y SR 8 2

1. AfFTEEarel &1 40%
2. JAfErTHH AT BT 50%
3. HferTEarst &1 35%
4. JAfEATHS AT BT 30%

1

(2 2

3) 3

(@) 4

1[Option ID=13369]

2[Option ID=13370]

3[Option ID=13371]
4[Option ID=13372]
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Which of the following are the characteristics of non-conventional learning ?

A. No fixed curriculum

B. Teacher-centred learning
C. Cost-effective

D. Require regular attendance

Choose the correct answer from the options given below:

1. Aand D only
2. Aand Conly
3.Band C only
4, B and D only

(1) 1

(2) 2

(3) 3

(4) 4

fafeiad § 9 TR-URURS s &1 fa¥ivai &1H A § 2
A 1 FAfEd urea T8t

B. Rige-disd s

C. ANTd-UHTdl

D i SuRfd &1 SH1a=g® gHl

A= fgu arw Taeredt & & AEL SO @1 Taa Shilalu:

1. %ad A dR D
2. HAT A IR C
3. $PaaAB AR C
4. %adaB AR D

1

) 2

3) 3

(@) 4

1[Option ID=13373]

2[Option ID=13374]

3[Option ID=13375]
4[Option ID=13376]
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The Sanskrit-Sahitya parishat whose aim and objectives are to disseminate Sanskrit learning and research in
different branches of indological studies and to store and maintain the ancient Indian cultural and glories of
India was established in the year :

1. 1906
2.1916
3.1964
4. 1961
@ 1




) 2
3) 3
(4) 4

T 0-UIied-uikeg e 3630 W ST &1 TR 3R YR faen da¢h srem= ot fafid amarsi
%@Wawwwmaﬂwm%%ﬁ?mamaﬂ?wmmﬁwmﬁ
or 2

. 1906
. 1916
. 1964
. 1961
(1) 1
) 2
(3) 3
(4) 4

b2 =

ER )

1[Option ID=13377]
2[Option ID=13378]
3[Option ID=13379]
4[Option ID=13380]
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Read the following passage and answer the question :

‘What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors. such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Frofafad T o ufed SR vy @1 W el

HIaTE el ST WeTad] 3 & (o Se? 1 Hd & 3Yal 35 ] BT AMMGY 2 P& alll A e
1 Yftran1 &1 aufF Fxa & fog uRfames, IR @HCR) Srar GHEd! o S0 G-I G- HR 39!
DG 3R 58 WY H & TIH [P T | TR =X P 9 § TR G6R & ARG § 59 Ual &
YT Je¥ § Reg MUfie 39 § 5991 90 68 U RO @S oH @I Jara adl ¢ | 39 dey § wied § &
R R RIg@ 1 (Seiad) 7=l § /it 31yal sugad arTeH SHEl & dRaH S aifed B2 goadl
T | grHedl SR URMHAHS ST YsSaR S $1 Jad B3 & Do 3R 3¢ 39 0 A T 4T
T & foT0 gwrad B3 &1 91d A1 ¢ | 59 faagTds e IRd &t i 3l 8 o feis & wifieR
I geTPR e Ta 1 e SR Riamf &1 S0 afaur S99 o a0 SRal § | 3T g9 J
T Tl 3 SOt wafRia ¥ o Teied 3 SfHariang s ey R Sere | e guE
T3 910 98 & 19 U 2 §URT U8 AFIGRH a1 $3d & 19 84 &1 ol ®3 9oy 1Rq 59 Gay 0 09 § (&
B 1 ST A1 | TS ST e} P51 Hd 1 8¢ WU 3R 0+ [qa@mRiiadl & oo [dar] &1
gmégﬁ%ﬁﬁaﬁ%wh%ﬁuwlqlﬁ?%ﬁﬁ:{ﬁ@aﬂamﬁww%?m@
UIH G |

What has been done to describe the role of online tutors?

. Add value to their guidance

. Provide them with a warning system

. Clarify their duties in fields other than education
. By adoption of certain metaphors

B O

(1)1
(2) 2
(3) 3
(4) 4

SHTAIEA ee™l @1 Yt & qui & fou o1 far T g 2

1. 371 AN & gegae a1 o |

2. 378 dd1a-1 HUlTel! U &Rl

3. 218 T TaR 841 ¥ 399 Socd B WP BT
4. BAUY =YP| Bl YA




(1)1
) 2
(3) 3
(4) 4
1[Option ID=13381]
2[Option ID=13382]

3[Option ID=13383]
4[Option ID=13384]
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Read the following passage and answer the question :

‘What iz it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors. such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of eritical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here,

fgfafad Teiw of gfed SR vy &1 3 SIS

HIeTS el ST WeTadr B3 & [0 Se? o1 B & 3l 3-8 o] BT 16U 2 P Alll A Se
D1 YT BT 90 B & g uRIamHe, JHS (HeR) SUal HGd! ofd &0 (G2 U] B sHa!
B SR 58 WY T & TN [HU T | e cex & ¥U H §HR SIGeR & AFIGRA § 59 9ai 1
T e & TR WU 39 & 99T a0 59 U TR @S §1H 31 Il aaT s | 59 Yay J Qe © &
TR R Rig@ I (Seiad) 7=i § s/fties 31yal sugad arTeH SHEl & JRTEH o aifed $R doal
T | grHedl SR URMHEHS ST YsISaR B $1 Jad B3 & Dol 3R 36 39 0 HH T 4T
T & foTT O9rad o3 & 91d a1 8 | 59 faagTds e IRd &t i 3nrdi 8 o fUeie & wifieR
@1 geTa Qe var 3 g ok Rignf &1 99/ gfaunt e &1 a1d $rar g | quft SaEa & 4
U T 31 ST HEfRId ¥ o T 3 SFariang o ey R ST | g g5 o
X1 910 98 © 19 U 92 §URT U8 HFIGRH a1 B34 & 19 84 &1 ol ®31 9oy R 59 Gay 0 O § &
B 1 DA A1 | TS SMaRA eex d-=1d U U 8¢ WU 3R S0+ [damyiiaal & oo [dar] &1
gﬁmw?{g{Wﬁ?ﬁ&iﬁﬁ%mﬁqa?ﬂﬁduldmé?%ﬁﬁ:fﬁﬂﬂﬁaﬂamﬁmmﬁﬁ%?mﬁ
YT |

What will inhibit student's contribution to tutorial discussions?

1. Too much contribution of the tutor
2. Disruption during tutorials
3. Internal divisions
4. Outside intervention
1)1
2) 2
3) 3
(4) 4

Rigrepta =I= § Sl & AFTET DI 1 FIUd S 2

1. TR BT AU ANTEH
2. et o & SR TayE
3. 3idR® He
4. STEI SXI&Y
(11
(2) 2
(3) 3
(4) 4
1[Option ID=13385]
2[Option ID=13386]

3[Option ID=13387]
4[Option ID=13388]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor ¢an inhibit contributions by the students, The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

fgfafad meiw @1 ufed 3R wy &1 3w SIS

fTeTe RIam ST SeTad B & [T e T I & SUal 376 301 AT 916 ? $S AR A Sex
1 YT BT 90 B & AT uRaHS, IS (HCR) SIUal GHSd] ofd 0 [V {91 B SHa!
BHEH 3R 58 WY B & YT [HU T | ${HTR cgex & 39§ TR IaeR & ORfex § g4 Ugl &1
T e § TReg WU 39 & 991 9 54 U6 R s §H $1 ddia adi § | S9 9ey H e 3 &
R R g (egeiad) 7ai § /it 31yar 3ugad arTeH SHE1 & ARTeH &I aifed B2 gl
T | gl SR IRFAHE 1 YeaTSeR B! 1 Jad B & Baiod 3R 378 S AT AT F 4T
T & T T=1a B P A PR & | S99 [aaa-TeTd (X141 SR Pt i SiTll © o FRI&® & MivaR
I geTR Qe 7ar H Ry iR Rignlf & v wfaumt 599 ot a1d F=ar e | quf aEa & 3
U@ W &1 HUCl YeiRid Sl od Jedih &1 HHaridid 391 $9U RR IS | g1 sad 1
T3 910 I8 ¢ 19 U IF SHRT U8 HFIGRA d1 $3d © [ g4 &1 gl &3l 91igy 1R 39 day H 01 g fa
TH 1 ST A1 | AfS SiFaRA egex d-51g Hd 3 8¢ WY 3R S0+ f[ad@meiiadl & o fdari &1
gwégﬁ%@ﬁ&mﬁ%m&mﬁﬁﬁw%%ﬁﬁﬁ@w@ww%?mw
YIS |

The rhetoric of moderators has the intention to :

1. Displace teachers from teaching

2. Liberate students for their own learning
. Strengthen the authority of teachers

. Avoid critical pedagogy

S Y

1) 1
(2) 2
(3) 3
(4) 4

gREAIHS] & Vg T Yo FEH T g 2

1. frerent 1 fRigror § fawifog oxn
2. BTAI P G 3T SHTH & {e1T qad A1
3. frapi & It R &I Yeg Dl
4. fad=rreTe fRuamamsa @ R @
@1
(2) 2
() 3
) 4

1[Option ID=13389]
2[Option ID=13390]
3[Option ID=13391]
4[Option ID=13392]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor ¢an inhibit contributions by the students, The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

fgfafad meiw @1 ufed 3R wy &1 3w SIS

fTeTe RIam ST SeTad B & [T e T I & SUal 376 301 AT 916 ? $S AR A Sex
1 YT BT 90 B & AT uRaHS, IS (HCR) SIUal GHSd] ofd 0 [V {91 B SHa!
BHEH 3R 58 WY B & YT [HU T | ${HTR cgex & 39§ TR IaeR & ORfex § g4 Ugl &1
T e § TReg WU 39 & 991 9 54 U6 R s §H $1 ddia adi § | S9 9ey H e 3 &
R R g (egeiad) 7ai § /it 31yar 3ugad arTeH SHE1 & ARTeH &I aifed B2 gl
T | gl SR IRFAHE 1 YeaTSeR B! 1 Jad B & Baiod 3R 378 S AT AT F 4T
T & T T=1a B P A PR & | S99 [aaa-TeTd (X141 SR Pt i SiTll © o FRI&® & MivaR
I geTR Qe 7ar H Ry iR Rignlf & v wfaumt 599 ot a1d F=ar e | quf aEa & 3
U@ W &1 HUCl YeiRid Sl od Jedih &1 HHaridid 391 $9U RR IS | g1 sad 1
T3 910 I8 ¢ 19 U IF SHRT U8 HFIGRA d1 $3d © [ g4 &1 gl &3l 91igy 1R 39 day H 01 g fa
TH 1 ST A1 | AfS SiFaRA egex d-51g Hd 3 8¢ WY 3R S0+ f[ad@meiiadl & o fdari &1
gwégﬁ%@ﬁ&mﬁ%m&mﬁﬁﬁw%%ﬁﬁﬁ@w@ww%?mw
YIS |

The discourse of participatory learning may result in:

1. Abandonment of the online tutorial system
2. Vigorous student protestation

. Emergence of dos and don'ts guidelines

. Supervisory role of students

S Y

1) 1
(2) 2
3) 3
(4) 4

yfaurft siftnmm dedfi ol w1 P d S e oRomm gl gsarg »

1. 3faEA R oaa=i & aRanT

2. RIS B9 WlRiY

3. T B 3R 1 7 B¢ gaeh gz o1 3w
4. B B uddeitg st

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13393]
2[Option ID=13394]

3[Option ID=13395]
4[Option ID=13396]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor ¢an inhibit contributions by the students, The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

fgfafad meiw @1 ufed 3R wy &1 3w SIS

fTeTe RIam ST SeTad B & [T e T I & SUal 376 301 AT 916 ? $S AR A Sex
1 YT BT 90 B & AT uRaHS, IS (HCR) SIUal GHSd] ofd 0 [V {91 B SHa!
BHEH 3R 58 WY B & YT [HU T | ${HTR cgex & 39§ TR IaeR & ORfex § g4 Ugl &1
T e § TReg WU 39 & 991 9 54 U6 R s §H $1 ddia adi § | S9 9ey H e 3 &
R R g (egeiad) 7ai § /it 31yar 3ugad arTeH SHE1 & ARTeH &I aifed B2 gl
T | gl SR IRFAHE 1 YeaTSeR B! 1 Jad B & Baiod 3R 378 S AT AT F 4T
T & T T=1a B P A PR & | S99 [aaa-TeTd (X141 SR Pt i SiTll © o FRI&® & MivaR
I geTR Qe 7ar H Ry iR Rignlf & v wfaumt 599 ot a1d F=ar e | quf aEa & 3
U@ W &1 HUCl YeiRid Sl od Jedih &1 HHaridid 391 $9U RR IS | g1 sad 1
T3 910 I8 ¢ 19 U IF SHRT U8 HFIGRA d1 $3d © [ g4 &1 gl &3l 91igy 1R 39 day H 01 g fa
TH 1 ST A1 | AfS SiFaRA egex d-51g Hd 3 8¢ WY 3R S0+ f[ad@meiiadl & o fdari &1
gwé?%@ﬁ&mﬁ%m&mﬁﬁﬁw%%ﬁﬁﬁ@w@mw%?mw
YIS |

The passage iz an analysis of:

1. The traditional educational system
2. The new assessment methodology
Indian vocational education
Paradoxes of online tutoring.
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